JOHN WISDEN'S CRICKETERS' ALMANACK FOR 1909

PUBLIC SCHOOL CRICKET IN 1908.

By C. TOPPIN.

I was interested a few weeks ago to observe a statement by a critic of the game, whose remarks are, as a rule, admirable and full of point. In the course of a general review of the first-class cricket of the year he asserted that in the case of the leading amateurs, Messrs. Fry, Warner, and H. K. Foster among the number, their respective schools cannot well claim to have taught them the style and strokes to which they owe their present prominence. The inference, I suppose, that we are invited to draw is that the training of our school cricketers has hitherto been based on an absolutely false system, and that the young aspirant to future honours in the cricket field is only taught on the school ground things which will have to be avoided, and lessons which will require to be unlearnt in the future, before he can hope to be a good batsman: in short, that he must have the courage to cast away the tradition of the elders, and evolve for himself a new system of salvation. One would be disposed to ask whether the assertion is the result of personal interviews with the cricketers whose names he has cited. It would, for example, be interesting to know whether Warner considers that he was taught cricket on an absolutely wrong system at Rugby, where, by the way, I should have written him down as a most assiduous and painstaking learner, and whether H. K. Foster is prepared to assert that his cheery and vigorous style of attacking the bowling was not, in the first instance, acquired at Malvern, or again, whether Fry does not believe that he laid the foundation of his success at Repton. But, say the Arabs, "A man cannot be wise without experience," and again, "Mind and experience are like water and earth co-operating, neither of them alone can bring forth a flower." The best two-year-old that was ever foaled would probably be found incapable of winning the Derby, and we do not expect the head boy on the Mathematical Side of a Public School to step straight out of the school class-room into the Senior Wranglership. But when the blue ribbon of either

the Turf or University is won, is all the credit to rest with that man alone, be he trainer or private coach, who has put on the final polish? Fry, Warner, and Foster, among others, are simply so many instances of boys who were excellent types of orthodox cricket when they left school, with such a ground work of soundness that, having had the leisure to learn and the genius to profit by a few extra lessons won by experience, the development of manifold scoring strokes was bound to follow. Imagine the converse and picture the results, direct and indirect, of attempting to teach a boy Bosanquet's leg-glide from a ball a foot or two outside the off stump. or Ranjitsinhji's flick to leg with a cross bat. I am constrained to go a step further, and suggest that school boys are expected to force the game too much now-a-days. A Jessop appears but once in a generation, hardly even that. Here again the word genius comes in. No man living can play the kind of game which he produces. and no man living has had so great an influence on the game. His would-be imitators are innumerable, especially among the inexperienced, and almost as many are the promising cricketers who have been spoilt by insisting on adopting from the start of their innings forcing tactics, which only the genius can carry out, and that at comparatively rare intervals. I do not for a moment advocate slow cricket, but I do deprecate, on every ground, the idea that a boy who is content to play a maiden over is an indifferent batsman.

But let me get somewhat closer to my allotted task. The annual encounter between a Public School Eleven and a side of amateurs representing the M.C.C. again took place at Lord's. But the match was robbed of a good deal of its interest by the fact that the boys' eleven could not be considered in any way representative of the school cricket of the year. The difficulties of securing a fully representative side seem to be almost insuperable, and it is a great pity that this is the case. At the same time, the principle, which I believe to be in vogue now, of asking one member of each of the leading schools to play, can hardly be a sound one. There were many notable absentees from the schools' side this year, including Greswell, Sale, Sharp, and Altham of Repton, Crutchley and Lawson-Smith from Harrow, Evans from Winchester, Wolfson from Marlborough, and Hammond from Haileybury. And yet the game was not altogether a waste of time, for two or three of the boys, notably Susskind (University College School), Prest (Malvern), and Lagden (Marlborough), acquitted themselves with some distinction. If it could once become a coveted distinction to be selected for this match, and the side were really representative of school cricket for the year, the game would be well worth seeing, and, indeed, surpassed in interest by very few in the course of the season.

While I again propose to make no attempt to classify the various school elevens in order of merit, the majority of critics, I fancy, would award the place of honour to Repton. That school for the last five or six years has turned out first-rate sides, and possibly this year's lot were stronger than any of their predecessors. They had no player of the calibre of J. N. Crawford, nor of Young, but there was batting, and sound batting too, to the eleventh man, and their attack, both in bowling and fielding, I have never seen surpassed by a school side. But, and I do not say this to detract from Repton's achievement, they were first in what was, I believe, a singularly lean year. Very few of the other leading cricket schools had teams up to their average, while, in most instances, they fell far short of it. Nor is it easy to account for this fact. The conditions were, more or less, normal in respect of weather, which, starting wet and none too warm in May, improved out of all knowing, so that by the end of July the general verdict was that we had had a fine summer term, which might have been expected to produce some notable school cricket.

The following table gives, in more or less succinct form, the results of the most important school engagements. For convenience sake I divide them into somewhat arbitrary groups.

- (1) Harrow beat Eton. Eton beat Winchester.
- (2) Marlborough beat Rugby, and drew with Cheltenham. Cheltenham beat Clifton, and drew with Haileybury.
- (3) Repton beat Malvern and Uppingham.

 Haileybury beat Uppingham, and drew with Wellington.

 Clifton beat Malvern.
- (4) Charterhouse beat Wellington and Westminster.
- (5) Shrewsbury did not play Rossall owing to illness. Rossall drew with Loretto.
- (6) Tonbridge beat Dulwich and Sherborne.
 Sherborne beat Radley.
 Radley beat Bradfield.
 Dulwich beat Bradfield.
- (7) Oundle beat Leys.

 Leys beat Bedford and University College School.

 Bedford beat Dulwich, and drew with St. Paul's and

 Merchant Taylors.
- (8) Eastbourne beat Lancing.
 Lancing beat Christ's Hospital.
 Brighton beat Lancing.

Harrow had a really good side, with great variety of bowling. some good batting, and a fielding lot that were constantly on the move and looking out for work. They were on top of Eton from the very first in the great match at Lord's. It was a game played under conditions which would test the most experienced of cricketers, for the weather and wicket were both nasty, after a long spell of hard fast wickets; and the fact that Harrow proved the better side at all points of the game, would seem to show that that they were very much the stronger combination. They had in G. E. V. Crutchley one of the best school batsmen of the year. He has telling strokes all round the wicket, with a strong partiality for driving and cutting, and he is no mean bowler. He should be a tower of strength to the side next year. Besides Crutchley they had three very useful batsmen in Anson, Lawson-Smith (who played an invaluable innings at Lord's), and Lang, who captained the side with good judgment, and is a sound wicket-keeper. Altogether, with ten out of the eleven capable of making runs. four or five really useful bowlers, who formed a stronger combination than they have had for some years, and a fielding side which held most things that came in their way, they were a team which would have taken some holding. Eton were by no means a good side, and had a disappointing season. It is true that they won the Winchester match easily, but this is very largely discounted by the fact that Winchester, owing to a visitation of that ridiculous complaint, mumps, could only place what was little more than a second eleven in the field. As I have suggested above, Eton cut, more or less, a sorry figure at Lord's. Their batting, especially in the first innings. was feeble, their fielding left much to be desired, while the bowling. which, after all, was their strongest department, was not very effective. The conditions were, no doubt, disheartening, the loss of the toss a distinct advantage to their opponents, and the failure of their captain and crack batsman a trial to their nerves. But still, when all is said and done, their all-round display was not a great one. I often wonder whether forward play is not too much exaggerated among school boys, and not least among Eton boys. It is a delightful method of treating the ball when the wickets are fast and true, but a most dangerous habit to the inexperienced when the pace of the wicket is slower and the ball requires more watching. "Reach out to 'em, Sir" used to be the cry of the old-fashioned coach, but I verily believe that he was wrong, and that the "half cock" shot is the best for all defensive purposes. Benson. one of the best of triers, did not fulfil the expectations which were formed of him last year, and the Harrow boys must have been considerably elated to see him dismissed twice in four balls for half as many runs. Cartwright was the best all-round cricketer on the side. Possessed of strong physique, he can bowl as fast

as you like and as long as you like, while he is a sound fielder and a strong, effective batsman. Useful members of the side were Fowler, a cricketer of some promise, who bowls slow with a somewhat exaggerated break, and makes runs, and Twining, a wicketkeeper of good class, who catches well, but is apt to give away too many 'extras' His batting record has been rather disappointing. Cruel fortune, in the form of the visitation of mumps to which I have already alluded, ruined what chance the Winchester side might have had of coming through the term with credit. But they were a weak side at best. The batting was moderate in quality and quantity, and much below the school standard, the bowling, with the exception of Evans, also of mediocre merit, but the fielding was good, and Gilroy, the stumper, excellent. The Eton match was a farce, the Wykehamists taking the field without Evans, Parke, Habershon, and Young, while Gilroy went straight from the sick room to the wickets to take charge of the side, and keep wicket extremely well. If both sides had been at full strength the game might have been a close thing but, as it was, the Wykehamists were beaten, though not ingloriously, in an innings. Evans, son of a famous father, was easily their best cricketer, and he goes up to Oxford with excellent credentials as a sound batsman and a good slow medium bowler and slip fielder. Huson played a very plucky innings against Eton, and is a sound, though possibly dull, bat, who is very difficult to dislodge. Parke, who showed such promise in 1907, hardly came up to expectations, and seems scarcely to have recovered his nerve from the nasty blow he received that year. It may be that it is not loss of nerve so much as lack of inches, but he is certainly weak at anything in the shape of a rising ball. I have already drawn attention to Gilroy's stumping. He is described as being quite up to "'Varsity form." Apart from the four names I have mentioned, the cricket of the side was very moderate.

First division of the first-class is the place assigned to the Marlborough eleven of this year, and the division is a small one. They had all the elements of a well-balanced side, with plenty of batting, some of which was very good, excellent fielding and stumping, at least one bowler of class, and last, but by no means least, a captain who knew his business, and who was a big asset to the side. With the addition of another bowler of something likeWolfson's calibre they would have been a remarkably good side. As it was, they lost but one of their eight fixtures, and that the first game of the season. The Rugby match produced some good cricket on both sides, but the Marlborough boys were easily the better combination, and won handsomely by 200 runs, Wolfson, in the second innings, securing nine Rugby wickets at a small cost. They played

a remarkable game with Liverpool, in which over 1,200 runs were made within two days, and Lagden entered the comparatively small band of double 'centurions.' In him they had a batsman of high class, who could hit with discrimination, and who should secure a good trial at Oxford next summer. Womersley, their excellent captain, is a very sound bat and fine field, while Brooks is a natural batsman and fast scorer, who, moreover, has the knack of coming off when most wanted. With other useful batsmen in Shaw, Scott, and Leventhorpe, they proved themselves a difficult side to dislodge. If, as I have suggested, they had possessed another bowler of real class, I should have backed them in shillings to half-pence against any other school side of the year. Rugby again were no more than a fair side. It is true that they had several dangerous batsmen in the team, but their bowling was distinctly weak, without much skill or variety, and the fielding, with the possible exceptions of Poulton and Forrester, slow and uncertain. Had it not been for the fact that in King they had an exceptionally good stumper, their attack generally must have occasioned them some concern. They met their masters at Lord's in Marlborough, who were on top all the way, in spite of plucky cricket by Sharpe and Rait-Kerr, R. Cunningham was easily their best performer, a capital bat and useful bowler, but moderate field. Rait-Kerr could generally be depended on for runs, as is shown by his average of 34 with a highest innings of 66, and Poulton is one of the vigorous kind with a strong partiality for leg strokes. As they seem likely to have nine of this year's lot in residence next summer, they should have high hopes of better things to come, and a turn of the tables in their classic match at Lord's.

Charterhouse were impartial in their results, winning, losing, and drawing four matches. Among their wins were their two school matches-Westminster easily, and their one day game with Wellington by 67 runs. And these two successes relieved the season from mediocrity. They were not a strong side, but they improved as the term advanced. Probably their most promising cricketer was Emley, a really good fast bowler, and he is very fast for his age. I see that one critic describes him as having too long a run, and therefore soon tiring. There is a limit, of course, but personally I do not believe that the few extra yards run make any appreciable difference to a bowler's lasting powers. The effort comes in the act of delivering the ball, and considerable impetus is necessary. Some require more than others, and it is simply a matter of suiting the impetus to the delivery. Wilson was wonderfully consistent with the bat, and was clearly the "standby" of the side. He does not affect a great style, but he can play either the dogged or dashing game, and may make his mark at Cambridge. Atkinson is a really good cricketer, a stylish bat, useful bowler, and fine field. The prospects for next year are good and I shall be interested to see how the fast bowler fares. Westminster had a fairly satisfactory season, and, if the Charterhouse match could be eliminated from their programme and memories. they would have every reason to be pleased with themselves. But once more the Carthusians were too strong for them, and in spite of all the hopes and anticipations that, this year, they would begin to wipe off something from the debtor side of the sheet, they had to retire beaten by an innings and some runs. Turner was easily the best player on the side, and his record is a good one. He is one of the sound, watchful sort, with a variety of crisp strokes. but perhaps hardly flashy enough to attract the authorities at Cambridge. Ranson, Gow, and Reed did pretty well with the bat. and Wood comes out with creditable bowling figures. In some ways they play old-fashioned cricket at Vincent Square, for the wickets are not too good and everything is run out. Bowling was fairly plentiful and steady, but not startling in quality, and the fielding, as a whole, good, with occasional epidemics of catch dropping. But, and this explains a lot, there was no real wicket-keeper in the school, and the side consequently entered the field very severely handicapped. There were distinct elements of strength in the Wellington side. Nine of the eleven could, and did, make runs. and had averages ranging from 32 to 20; they had two quite average bowlers, and their fielding was, as a whole, good, with one or two weak spots. They succumbed to Charterhouse after a good match, in which Atkinson, for Charterhouse, played a great game, and made nearly half the runs, and they were unfortunate in not bringing the Haileybury match to a conclusion, but being left with little more than half-an-hour, in which to make 155 runs. the task was impossible. The two best batsmen on the side were Kidd and Arkwright, both of whom play sound, attractive cricket. and, as the former comes out top of the bowling figures and is an excellent field, he is one of the sort whom most captains would welcome on their side. Field was another of the useful kind, for he not only made runs with some regularity but he kept his bowling end up. and shared with Kidd the honours in this direction. While there was no real "flier" on the side, there was an unusual number of really good school cricketers among them, and they were distinctly unlucky in winning neither of the school games. I should be inclined to say that they were the strongest of the three sides.

I doubt whether any school has, for some years, produced a better, or even as good, an eleven as *Repton* turned out this year. Their record of five wins, as against three lost and two drawn games, is somewhat misleading. The two latter games were both in

favour of the school. In the case of the lost games, A. O. Jones "got going" for the Notts Amateurs to the tune of 113 out of 209, after the school had been dismissed for 179; in the old Reptonian match J. N. Crawford was responsible for 79 and 153, and then bowled the boys out for 154 on a crumbling wicket, while against Burton, such was the condition of the wicket that the loss of the toss meant the loss of the match. They gained a signal triumph over Uppingham, and their victory over Malvern was almost grotesque. But perhaps their most remarkable win was against a strong Quidnunc side, whom they dismissed for 184, and then proceeded to knock off the runs for the loss of one wicket! Criticise as one may, it is difficult to find a weak spot in their all-round merit. Their bowling was admirable, with Greswell, who was found good enough to bowl out Yorkshire inter alios in August, to lead them. His record for the school is excellent, but, in spite of figures, I cannot help thinking that Vidler is a bowler with greater possibilities. Their fielding, especially on the off side, was worth seeing, while with regard to their batting it is only necessary to say that ten of the eleven were really good. To my mind the pick of the basket were Sharp and Sale. The former watches the ball well, and seems to have scoring strokes all round his wicket, while Sale is one of the dashing sort, who, yet, does not seem to play outside himself, and his style is excellent. Altham played some extremely useful cricket for his side, but I could not help feeling that he was more the made than the natural cricketer. Altogether they were a remarkable side, and not the least remarkable fact about them was that during August, out of the eleven, Altham played for Surrey with some success, Greswell for Somerset, Sharp for Leicestershire, and Sale for Derbyshire. Campbell and Cardew were asked to play for Surrey and Somerset respectively, and Vidler appeared for Sussex Second Eleven. I doubt whether such a record has ever been surpassed by a school eleven. Malvern started the season with high hopes, for they had an excellent nucleus for their side, and some promising material for the gaps, but they could never get going as an eleven, and the matches which they won were mainly the result of individual efforts. If it were possible to except the school matches, their record would be quite a good one. But there's the rub. Both school matches were lost, and chroniclers had to go back eighteen years for a parallel. Against Clifton it may be that an excess of self-confidence on the part of Malvern and a swerving left-hand bowler on the Clifton side were the main causes of the defeat. Anyhow, the rout was severe and inexcusable. Against the redoubtable Repton side no play was possible before 4.30 on the first day, and having the misfortune to lose the toss, on an easy, lifeless wicket, and a wet ball to deal with, the Malvernians were placed at a disadvantage, which they could ill afford. At the same time no

excuse could be offered for their miserable display in both their innings. And yet there was any amount of cricket on the side. It is doubtful whether Prest had a superior as a batsman among the school boys of the year. He plays in excellent style, with a full quiver of fine forcing strokes anywhere except behind point. As he is a fine field into the bargain, he should come very near his "Blue" at Cambridge. Foster. a forceful bat with a variety of telling shots, lacks, as yet, the requisite soundness before he can follow his brothers in the first flight. Kirby played some useful innings, but Hughes could not produce the form which he undoubtedly possesses. In the bowling line, Tuff certainly did not improve on his previous form and the others did not greatly help him. In a word, disappointment is writ large on the annals of Malvern cricket of '08. The record of Uppingham cricket again proves dismal reading. For the second year in succession they can point to no victory, and this time seven losses and two drawn games out of nine fixtures is a disheartening performance. The fielding was, as a whole, good, and they had a capital stumper in Tomlin, but the bowling was woefully weak, none of their regular bowlers having an average of under 29. Nor could any very pronouncedmerit be found among the run-getters. Most of them could play with a straight bat, but there was too little disposition to put the bat against the ball, with the result that their display was mainly tame and uninteresting. Fawcus was the most consistent and serviceable scorer, and three of his four innings in school matches were highly creditable. All friends of the game must wish more success to a school which has been one of the greatest nurseries of amateur cricket in the past.

The Cheltenham cricket was comparatively free from remarkable incident. Their match with Marlborough was hopelessly drawn owing to wet weather, but against Haileybury at Lord's the Cheltenham boys were set to get 266 in one hundred and forty minutes and gamely went for them, with the result that they lost seven good wickets, and were eventually saved from defeat by a capital piece of defensive cricket on the part of Dickinson. Things looked ominous after an innings apiece in the Clifton match, but Brown and Dickinson rose to the occasion, and dismissed their opponents for 76 and, with Light backing them up by some invaluable batting, Cheltenham won in fine style by six wickets. Dickinson had been their crack bewler of the year before, but this year much of his attention was devoted to batting, and he came out top of both averages with very respectable figures. Brown and Reid proved two extremely useful members of the side, the latter especially being one of the right sort, who could rise to an emergency and pull his side out of a hole. Considering the fact that there was

only one member of last year's side available, the results of the term's cricket were eminently satisfactory. The Haileybury boys could do no more than win two of their matches, losing six, and drawing six others. One of their wins was at the expense of their old foes from Uppingham, a result mainly due to the excellent bowling of Waller, and some level batting by his confréres. But they were not a strong side. It is true that they had one capital bat in Hammond, who has quite fulfilled the expectations formed of him last year, and some other useful batsmen in de Freitas, Dawson, and Stafford, but their bowling was distinctly on the weak side. The brunt of the attack was borne by Waller, a really good legbreak bowler, who spins the ball well, and is not, like so many of his kind, too slow, but he was poorly supported by the rest of his brigade. Pawle shapes well, both with bat and ball, and as he will be two more years on the side he should make his mark before he leaves. I hear encouraging reports of promising material among the "colts," so that, with six of this year's lot to start with next year, they should give a good account of themselves. Clitton are to be congratulated on showing distinctly better form than they have done for the past few summers. There seemed to be more of the real cricket spirit about the side, and the fact that they severely trounced Malvern should add to their amour propre. At one time they looked like beating Cheltenham too, but they collapsed dreadfully in their second innings and easily lost the game. Their strength undoubtedly lay in their bowling and fielding. Ball, a fastish left-hander, with a swinging yorker, is uncertain, but on his day he is very good, and Brownlee is also one of the swinging sort. The latter is easily the best cricketer on the side, for, besides being a competent bowler, he is a batsman of high promise and a fine field. I trust that he has grown out of the carelessness which spoilt his cricket last year. The batting of the side, as a whole, was nothing remarkable, indeed it could hardly be strong, for no one in the course of the season was responsible for more than 73 runs in an innings, and only four of them got over 50.

Tonbridge are to be congratulated on turning out a remarkably good side, possibly one of the best which has ever represented the school. They started their programme in great form by winning eight matches off the reel, and were then pulled up by the Free Foresters, who defeated them by one run. But even this was a moral victory for the boys, as they were compelled to bat with ten men, the absentee being their crack, Bannister. They triumphed with ease in both their school encounters, beating Dulwich in a low scoring game by 90 runs and Sherborne by an innings and 80 runs. In spite of strong batting figures, it is safe to say that the strength of the side lay in their attack, for they had, in Bannister, C. Marzetti,

and Bourdillon, three extremely useful bowlers, who were a capital foil for each other, and only once failed to dismiss their opponents cheaply. Bannister, too, was easily top of the batting averages, and I should be inclined to place him as very nearly the best allround school cricketer of the year. It seemed a sad lack of enterprise on the part of Leicestershire not to give him a trial during August. Knott, too, who has two or three more school seasons before him, and Knight proved reliable run-getters, while five others of the side were capable of making 60 runs and upwards. Altogether, I should be inclined to place the Tonbridge eleven in a very small class at the top of the tree of school sides of the year. Dulwich easily met their masters in their game with Tonbridge, and succumbed also to Bedford by a few runs in a low scoring game, but won the rubber in their other school matches. They were quite a capital side, with plenty of batting-their lowest average was 13-which was backed up by some useful bowling, and the fielding was first-rate. Their two best performers were Meade and Waddington. The former is an excellent all-round player, who should prove a capital recruit for soldier cricket later on, while Waddington, who goes to Oxford, besides being a fine fielder, watches the ball carefully and drives with some power. Altogether, they were a side which was well up to the average, and their prospects for another year are full of promise. With the exception of their encounter with Tonbridge, when they were distinctly outclassed, the Sherborne boys have every reason to be satisfied with their results. They were a keen side, with no very pronounced batting merit, but some quite respectable bowling, which was backed up by excellent fielding. "Far and away the best fielding eleven seen on the ground this year," is an authoritative comment. They do things thoroughly and systematically in this respect at Sherborne, and their methods might well be adopted by other schools to their advantage. Carey was their most dependable bat, though he never succeeded in running up a big score, and in Taylor they possess an all-round cricketer of distinct merit. With eight of this year's lot staying on and plenty of new blood to draw from, they should give a good account of themselves next year. Radley played Sherborne for the first time this year, and had a capital game with them which ended in a victory for the latter on the first innings. They had a very close shave with Bradfield, winning only by a narrow margin of runs, after some exciting cricket. They were a side well up to the average a with level lot of batting, and two bowlers of more than average merit in Willcocks and Ames, fastish left and right hand respectively, and up-to-date swervers. There was no real star among the run-getters, the best of the lot being Bruton, Babington, and Vidal. Bradfield again had to be content with a moderate amount of success, among their lost games being their

two school encounters, with Dulwich and Radley. The former beat them easily, a timely stand by two of their tail alone saving the side from sheer annihilation. But against Radley they put up a good fight, and were just beaten by their opponents' last wicket. I hear a grumble, which seems justified, that they do not play enough matches. Eight innings apiece, which is more than the eleven averaged, does not seem a liberal allowance. With so few chances of distinction, boys are likely to be much too excited to do themselves real justice. The acquisition of a fine new ground. which is shortly to come into use, instead of the present narrow, sloping ground, should do much to develop Bradfield cricket in the future. They accomplished a very creditable performance against a useful M.C.C. side, thanks to a capital innings by Jugpen. and I had it from one of the visiting bowlers that they were one of the best school sides he had played against for a long time. Possibly with more scope, they might have proved his assertion to be more correct than it seems.

The Shrewsbury side were a stronger lot than they have had for some years. It was very bad fortune that their solitary school match, with Rossall, could not be played owing to illness, but two or three of their games produced some very sporting cricket. Against Exeter College, after making 202, the boys ran the last three of their opponents out and won by one run, while against the Aliens they declared at 318 for six wickets, and were defeated by three wickets at the last ball of the match, 637 runs having been made in four and three-quarter hours. Bardsley was easily their best cricketer, and his record of a batting average of 40, with a highest score of 90, and bowling average of fiftythree wickets for 17 runs apiece, was a very fine piece of work. He has another year at school, and should do great things. Burton was his understudy in both departments. With seven of the pick of this year's lot they ought to turn out a fine side next year, but they must secure a reliable stumper. Owing to the fact that, for various reasons, three of their fixtures fell through, the results of Rossall cricket are meagre in the extreme. The outstanding feature was Sleigh's bowling, which is fastish with a swerve. He goes up to Cambridge, and if he continues to improve he should be heard of again. Ling and Furneaux were the best batsmen on the side. and were consistent without doing anything very startling. Faulty wicket-keeping seems to have been almost epidemic among the schools this year, and Rossall were no exception to the general failing. It is a far cry to Sedbergh, snugly hidden away among the the hills and dales of Yorkshire, where the weather is apt to play sad pranks with the summer game. With a final score of four wins and six losses, they were only moderately successful, a result

chiefly due, I am told, to fielding, which was exceptionally bad! Their best cricketer was Lockhart, a very fair bat, and not a bad disciple of the 'googly' order of bowlers. Their most promising batsman was Thursby, while Scott, besides being the best fielder on the side, must have been a very consistent scorer.

Leus School embarked on an ambitious programme of twenty fixtures, including no less than six school matches. They had a fine game with University College School, and won, as the chronicler has it, by one ball. This is literally true, for, when the last over came, their opponents had three wickets to fall, but Guibell rose to the occasion and dismissed the trio in five balls. The batting was very much dependent on Hollaway and Pinkham, the former of whom is a capital all-round cricketer and the latter is that rara avis, a powerful hitter and consistent scorer. Without these two the side would have fared badly. I should add that Hollaway played a very fine innings of 220, not out, against a pretty good M.C.C. side, and it was a distinctly creditable performance on the part of the boys, after declaring with four wickets down, nearly to succeed in getting rid of their opponents. Reports on Bedford Grammar School are not so pessimistic as they were last year. Their results are not too flattering, but it must be noted that in the majority of the lost matches, so narrow was the margin, that a slice of luck, or, it may be, another dependable bowler would have turned them into victories. A win over Dulwich, after a close game, a loss to Leys School, and drawn games with St. Paul's and Merchant Taylors, was the tale of their school matches. They had a good bat in Sutherland, and a left-hand bowler of more than average merit in Grierson, but their catching. I am told on good authority, was extremely uncertain. The St. Paul's eleven fared badly against Dulwich, otherwise they would have had little cause for self-reproach. It may be that, as the Pauline puts it, four successive school matches were too much for They vanquished Brighton College and Mill Hill, and drew evenly with Bedford Grammar School. The bowling, led by Sargent, was distinctly stronger than the batting, though it must be noted that they had, at least, four useful scorers, the most promising of whom was Fender, who, though only 15 years old, was seen to advantage in goodish Sussex cricket during August. I am told that he made 1,200 runs during the month. Nothing of much note is to be gleaned from the doings of the Oundle eleven. They began the season with their four bowlers of last year, but found some difficulty in unearthing any reliable batting, with the result that they only succeeded in winning two of their ten matches. Their most creditable performance was their win over the Levs School. a much stronger side, when Gore-Brown bowled nine of his opponents

and caught the tenth. Forest School turned out only a moderate team. The bowling was distinctly on the weak side, and the fielding was not too good. Of the batsmen I fancy that Morris was the best, though he does not come out with the best figures. With ten losses to one victory they could hardly consider their season a successful one. Merchant Taylors had a very poor season, Forest School being their only victims out of twelve matches played. Indeed, so weak was the supply of material, that they were obliged to adopt the unusual course of leaving the last three places on the side vacant. Though only two of the boys succeeded in winning "talent money," there was some fair batting shewn by the first four or five men on the side, but, as the Taylorian graphically puts it, "the tail end was usually skittled out for not many more than ten runs." The bowling was dreadfully weak, and practically all of the same kind.

Eastbourne College cannot complain of dulness during their summer term, for they entered on a campaign of eighteen fixtures, not to mention a modest sixteen for their second eleven. And this year they emerged from the ordeal with some credit, though I cannot help noticing that all their last eight matches were either lost or drawn. Can it be that this was due to staleness? They had an extraordinary game with King's School, Canterbury, which is deserving of record. Eastbourne declared at 309 with three wickets down, two of them run out, and their opponents responded with 345 for the same number of victims, one run out, with half an hour to spare. It was all in a day's work, and the school paper puts it well. "In the course of the day, ten bowlers, slaving like niggers, between them secured three wickets at a cost of 650 runs!" Coxhead was out and away their best cricketer and heads both bowling and batting statistics with very respectable figures, and Dennys, Tudor, and Cranfield had capital averages considering the number of innings they played. The Lancing boys were not seen at their best against Brighton College, but this was their worst performance, and, speaking generally, they had quite a satisfactory season. Hopewell and Wilkinson, their next year's captain, were their best batsmen, and several others showed good form on occasions, but their bowling was weak and uncertain. Nothing very startling was to be found in this year's cricket at Epsom College. They had a very fair fast bowler in D. J. Evans, and some useful batsmen in Stanley, Walker, and Macphail, but I notice a severe criticism in connection with the fielding of the last named player. "Good field when the ball goes to him, but is too slack to run for it." I hope that this is not literally true. But fielding seems to have been a weak feature of their cricket. The Felsted eleven had a fairly satisfactory term, winning two games as against two losses. Their

bowling was poor and wanting in variety, but this was, to some extent, counterbalanced by some capital fielding and catching. Jewell was their star performer and his record ranks him as a cricketer of distinct class. Besides him, Hamilton, Page, and Morris were quite up to the average. There was a lot of level batting merit to be found on the Mill Hill side, but no real "flier," while the bowling was efficient, so far as it went, but there was a degree of sameness about it. More than half their matches were drawn, and, as the scoring, as a rule, was low, it would almost appear that their cricket days are on the short side. Mention should be made of some capital work by Harris among the bowling brigade.

The competition for champion honours among the Scotch schools produced some interesting cricket, but it must be confessed that its quality never attained a very high standard. Watson's College, who were champions last year, fell from their high estate and resigned the honour to Loretto, who were admittedly the best side of the year, though more than one of their rivals gave them a severe fright. For instance, against Merchiston, they were dismissed for 81, but Dempster, their captain and out and away their best cricketer, rose to the occasion, and secured the first five wickets of his opponents for 0 runs! They had, also, a capital tussle with Fettes, who, thanks to an excellent innings by Moir, secured a creditable draw against their stronger opponents. With four wins and one drawn game, they were easily the best school side north of the Tweed. Dempster was in a class by himself as an all-round cricketer, and his bowling and batting figures are excellent. R. Gillespie, Clay, and Hunting were also useful members of the side, and altogether they were a combination well above the average. Merchiston Castle were the most likely runners up in the competition, and beat all their other opponents except Loretto. They had four capital cricketers in R. Fraser, Myles, A. Fraser, and Cameron, the first named of whom always seemed to have the happy knack of coming off when most wanted, as witnessed by his performance against Loretto. Fettes had some fair batting, with Moir as their crack in this department, but their bowling was weak, and they were not a side which inspired much confidence. Edinburgh Academy had three useful bowlers, but otherwise they were a poor side. Chief interest with them centred in the doings of Crole, who is only 13 years old, and small for his age. I am told, on good authority, that he is extremely promising. At all events, before he leaves school, his experience of inter-school matches will be considerable. Neither Watson's nor Glenalmond made much of a show in the competition. The former were well led by W. G. Stuart, but he had very little backing.

To summarise briefly, the pick of school batsmen seem to be Bannister (Tonbridge), Crutchley (Harrow), Altham, Sharp, and Sale (Repton), Prest (Malvern), Lagden, Womersley (Marlborough), Hammond (Haileybury), Susskind (University College School), and the best bowlers were Greswell (Repton),)Bannister and Marzetti (Tonbridge), Wolfson (Marlborough). Evans, of Winchester, would, like Bannister, almost qualify for either list. Wicketkeeping was very poorly represented, but I should select Gilroy (Winchester), King (Rugby), and Tomlin (Uppingham) as the best. My selected side for the year would be, Altham (capt), Gilroy, Sharp, Greswell, Bannister, Crutchley, Prest, Lagden, Wolfson, Marzetti, and the last place would lie between Susskind, the specialist, and Evans, the all-round man, with a leaning towards the latter for his short slip fielding as an extra arrow in his quiver. I am fain to admit that this is not as strong a side as I picked last year. It has a longer batting tail than I like.

The following, among others, will be in residence at the Universities next summer :-

CAMBRIDGE.

C. Marzetti, Tonbridge. H. E. W. Prest, Malvern.

D. O. Light, Cheltenham. H. W. Ling, Rossall.

F. M. Carlisle, Harrow.

A. E. F. Wood, Westminster. S. H. Habershon, Winchester.

A. P. Wilson, Charterhouse. J. M. Gotto, Haileybury.

H. N. Atkinson, Charterhouse. J. M. de Freitas, Haileybury.

C. E. Knight, Tonbridge.
C. H. E. Bilton, Tonbridge.
O. Hughes, Malvern.
Hon. L. H. Tennyson, Eton.

G. B. Sleigh, Rossall.

S. St. M. Delius, Harrow. L. S. M. Page, Felsted.

A. V. Makant, Harrow. G. Hornung, Winchester.

F. G. Turner, Westminster. R. H. Fowler, Winchester.

OXFORD.

C. G. Read, Westminster.

C. O. H. Bury, Charterhouse

R. W. Sparrow, Charterhouse.

F. N. Tuff, Malvern.

K. Raikes, Shrewsbury. R. L. Benson, Eton.

G. H. Cartwright, Eton.

F. W. L. Gull, Eton.

G. W. Cattley, Eton.

A. C. N. Spicer, Bradfield.

C. O'D. Carey, Sherborne.

G. H. Shaw, Sherborne. A. N. Hutt, Wellington.

A. D. Womersley, Marlborough.

R. O. Lagden, Marlborough.

J. B. Brooks, Marlborough.

A. J. Evans, Winchester. G. B. Gilroy, Winchester. A. C. Huson, Winchester.

J. P. Sargent, St. Paul's.

T. T. Waddington, Dulwich.

70	~	~	75 . 7
M.	U.	U.	Matches.

	M.C.C. AND GROUND ELSTOW SCHOOL			Result. Won by 174 runs. Five wkts. down. Deld.
July 9, Lord's {	M.C.C. AND GROUND EGYPT AND THE SOUDAN	179 224	39*	Lost by 45 runs. *Four wickets down.
July 9, Wimbledon {	M.C.C. AND GROUND WIMBLEDON	118 184	128*	Lost by 66 runs. *Two wickets down.
July 9, Hornsey {	M.C.C. AND GROUND HORNSEY	284 143		Won by 141 runs.
July 9, Elstree	M.C.C. AND GROUND ELSTREE MASTERS	211 176		Won by 35 runs.
$\begin{array}{c} \text{July 10,} \\ \text{Felsted} & \dots \end{array} \bigg\{$	M.C.C. AND GROUND FELSTED SCHOOL	208* 104†	=	Drawn. *Four wkts. down. Dcld. †Three wickets down.
$\begin{array}{c} \text{July 10,} \\ \text{Streatham} & \dots \end{array} \Big\{$	M.C.C. AND GROUND STREATHAM	214 24*	- N	Drawn. *One wicket down.

ETON v. HARROW.

Played at LORD'S, Friday, Saturday, July 10, 11.—Judging from the previous form of the two sides there seemed every reason to expect a good fight between the schools, but the match was played on a soft pitch and Harrow, adapting themselves far better than their opponents to the conditions that prevailed, gained an easy victory by ten wickets. On a fast ground the Eton batsmen would, no doubt, have made plenty of runs, but a Lord's wicket spoilt by rain was altogether too much for them. Harrow really won the game at the start, Crutchley and Lawson-Smith putting on 120 runs in an hour and a half for the second wicket. At lunch time four wickets had fallen for 201 and, though the innings was afterwards finished off in five and twenty minutes, a total of 210, as events proved, placed the side in an unbeatable position. Crutchley played in a style that earned him unstinted praise. It was the general opinion that, allowing for the state of the ground, a finer innings than his 74 had not for years been seen in the match. He showed himself master of a great variety of strokes, and the certainty with which he timed the ball on the slow wicket was, in the case of a school batsman, extraordinary. He gave no chance and, if the ball had travelled faster in the deep field, he would, without a doubt, have had the satisfaction of getting a hundred. In point of class his batting dwarfed everything else in the game. Lawson-Smith, who took out his bat for 79, did not bear comparison with Crutchley as regards style, but he drove with plenty of power and steadily improved upon a moderate beginning. He was at the wickets for rather more than three hours. Of the Eton bowlers Cartwright, who took five wickets for 44 runs, was a long way the best. The fielding was far below the usual Eton standard, many runs being given away through want of cleanness in picking up the hall.

After lunch the wicket had become more difficult than before, and Eton, going in just after half-past three, gave a deplorable exhibition. Benson, who played so finely in 1907, was bowled in the first over, and when rain, after causing one stoppage, cut the afternoon's cricket short, six wickets were down for 37. Stumps were pulled up at ten minutes past six. On Saturday the weather, after a dull morning, turned out delightfully fine, but an easy victory for Harrow was so assured that little interest could be taken in the cricket. At one time it seemed certain that the match would be over before lunch. Eton finished off their first innings in something over half-an-hour for 71 and, following on against a balance

of 139, they lost six wickets in fifty minutes for 42 runs. However, Windsor-Clive, Tennyson, and Worsley did something to redeem the batting reputation of their side, all playing with far more resolution than had previously been shown. Worsley's fine driving saved the single innings defeat after luncheon, but Harrow had only fourteen runs to get, this number being hit off in ten minutes. Crutchley followed up his brilliant success as a batsman by taking in all eight wickets for less than six runs each. He made the ball swing in rather awkwardly. Anson, though not so successful, bowled very steadily. Crutchley and Lawson-Smith were both new to the match.

M- 0 TI TI 0			H	ARRO	W.				
Mr. C. E. V. Crute	chley c	and b T	ennyson	74					
Mr. W. I. Everard	d run o	ut		4					
Mr. T. E. Lawson	-Smith	not out			- not	out .			в
Hon. R. Anson c	and b	Cennyson	n	0	2200		NO INCLUDED		
Mr. V. Routledge	c and l	Cartwr	right.	1					
Mr. A. H. Lang c	Tenny	on h W	indeor-	-					
Clive				8	not	ant			7
Mr. G. F. Earle ca	ndh	Formlan			— not	out.		• • • • •	
Mr. C. A. Torrort	in u b i	Windage.	Olima l	25					
Mr. G. A. Lavert	on e	Windsor	-Clive b						
Cartwright	:			4					
Mr. S. St. M. Del									
wright				1					
Mr. F. M. Carlisle	b Cart	wright.		0					
Mr. A. V. Makant	c Wors	sley b Ca	artwright	t 1					
B 5, w 2,	n-b 6			13	N	T-b			1
				_			1820.57		
				210					14
11- D TF M		Exercis.		TON.	I San lan	abor who	the wift mo		
Mr. R. H. Twining	g lbw,	o Anson		0 -	— c D	elius b	Crutchle	y	4
Mr. R. L. Benson	b Crute	chley		0 -	— c La	ang b (Crutchley		2
Mr. E. W. S. Folja	mbe b	Crutchl	ey	8 -	- car	id b Cr	utchley		1
Mr. R. St. L. Fowl	ler b A	nson		8 -	— c E	verard	b Lavert	on	14
Hon. A. Windsor-	Clive 11	ow, b La	verton	10 -	- c E	verard	b Carlisle	e	38
Mr. G. H. Cartwir	ght b A	nson		3 -	— b L	avertor	n		0
Hon. L. H. Tenny	son c E	arle b C	rutchlev	13 -	- car	d b Ca	rlisle		26
Mr. W. A. Worsley	c Eve	rard b A	nson	4 -	- bE	arle			42
Mr. G. W. Cattley	run ou	t		10 -	- h A	ngon			4
Mr. F. W. Gull c B	larle b	Crutchle	ev	0 -	- b Cr	ntchle	y		9
Mr. R. O. Kenyon	-Slaner	not out	t	11	— not				
B 4				4	P	2 1 h	3, w 1, n	h 1	
MARCHAEL AND THE	E CONTRACT			-	1)	0, 1-0	o, w 1, 11	-U I	Q
									8
				71					_
			D	71					152
at hee soning as	Orrowa	Mdaa	ETON :	Bowi	LING.		Ded.		152
	Overs	Mdns.	Runs	Bowi Wkt	LING.	Overs	Mdns.	Runs	152 Wkts.
Cartwright	20.2	8	Runs 44	Bowi Wkt	LING.	Overs 2	Mdns.		152
Cartwright Kenyon-Slaney .	20.2 17	8 2	Runs 44 41	Bowi Wkt	LING.	2		Runs	152 Wkts.
Cartwright Kenyon-Slaney . Fowler	20.2 17 22	8 2 3	Runs 44 41 56	Bowi Wkt	LING.			Runs	152 Wkts.
Cartwright Kenyon-Slaney . Fowler Gull	20.2 17 22 3	8 2 3 1	Runs 44 41	Bowi Wkt 5 0	LING.	2	0	Runs 3	152 Wkts. 0
Cartwright Kenyon-Slaney Fowler Gull Windsor-Clive	20.2 17 22 3 8	8 2 3	Runs 44 41 56	Bown Wkt 5 0	LING.	2	0	Runs 3	152 Wkts. 0
Cartwright Kenyon-Slaney Fowler Gull Windsor-Clive Foljambe	20.2 17 22 3	8 2 3 1	Runs 44 41 56 7	Bown Wkt 5 0 1	LING.	2	0	Runs 3	152 Wkts. 0
Cartwright Kenyon-Slaney Fowler Gull Windsor-Clive Foljambe	20.2 17 22 3 8	8 2 3 1	Runs 44 41 56 7 24 5	Bown Wkt 5 0 1 0 1	LING.	2	0	Runs 3	152 Wkts. 0
Cartwright Kenyon-Slaney Fowler Gull Windsor-Clive	20.2 17 22 3 8	8 2 3 1 1 0 1	Runs 44 41 56 7 24 5 20	Bown Wkt 5 0 1 0 1 0 2	LING.	2	0	Runs 3	152 Wkts. 0
Cartwright Kenyon-Slaney Fowler Gull Windsor-Clive Foljambe Tennyson	20.2 17 22 3 8 2 5	8 2 3 1 1 0 1	Runs 44 41 56 7 24 5 20 HARROW	Bown 5 0 1 0 1 0 2 Bown	LING.	2 2	0	Runs 3	152 Wkts. 0
Cartwright Kenyon-Slaney Fowler Gull Windsor-Clive Foljambe Tennyson Crutchley	20.2 17 22 3 8 2 5	8 2 3 1 1 0 1 1 5 F	Runs 44 41 56 7 24 5 20 HARROW	Bown Wkt 5 0 1 0 1 0 2	LING.	2 2	0	Runs 3	152 Wkts. 0
Cartwright Kenyon-Slaney Fowler Gull Windsor-Clive Foljambe Tennyson Crutchley Anson	20.2 17 22 3 8 2 5	8 2 3 1 1 0 1 F 5 7	Runs 44 41 56 7 24 5 20 HARROW 13 31	Bown 5 0 1 0 1 0 2 Bown	LING.	2 2	0	Runs 3 10	152 Wkts. 0
Cartwright Kenyon-Slaney Fowler Gull Windsor-Clive Foljambe Tennyson Crutchley Anson Laverton	20.2 17 22 3 8 2 5 11 16.3 4	8 2 3 1 1 0 1 E 5 7 0	Runs 44 41 56 7 24 5 20 HARROW	Bowl Wkt 5 0 1 0 1 0 2 Bow 4	LING.	2 2	0 0	Runs 3 10	152 Wkts. 0 0
Cartwright Kenyon-Slaney Fowler Gull Windsor-Clive Foljambe Tennyson Crutchley Anson Laverton Earle	20.2 17 22 3 8 2 5	8 2 3 1 1 0 1 F 5 7	Runs 44 41 56 7 24 5 20 HARROW 13 31	Bown Wkt 5 0 1 0 1 0 2 Bow 4 4	LING.	2 2 13 12	0 0 3 4	Runs 3 10 33 40 17	152 Wkts. 0 0
Cartwright Kenyon-Slaney Fowler Gull Windsor-Clive Foljambe Tennyson Crutchley Anson Laverton Earle	20.2 17 22 3 8 2 5 11 16.3 4	8 2 3 1 1 0 1 E 5 7 0	Runs 44 41 56 7 24 5 20 HARROW 13 31 10	Bown 5 0 1 0 1 0 2 Bow 4 4 1	LING.	2 2 13 12 9	0 0 3 4 3 0	Runs 3 10 33 40 17 13	152 Wkts. 0 0
Cartwright Kenyon-Slaney Fowler Gull Windsor-Clive Foljambe Tennyson Crutchley Anson Laverton	20.2 17 22 3 8 2 5 11 16.3 4 1	8 2 3 1 1 0 1 5 7 0 0 0	Runs 44 41 56 7 24 5 20 HARROW 13 31 10 9	Bowl Wkt 5 0 1 1 0 2 2 Bow 4 4 1 0 0 0	LING.	2 2 13 12 9 3	0 0 3 4 3	Runs 3 10 33 40 17	152 Wkts. 0 0

Umpires: A. J. Atfield and T. Brown.

RESULTS OF PAST ETON AND HARROW MATCHES.

1805.	Eton won by and in 10	7005	77 0 1 1 1
	Eton won by an inns. and 2 runs.	1867.	Unfinished.
1818.	Harrow won by 13 runs.	1868.	Harrow won by seven wickets.
1822.	Harrow won by 87 runs.	1869.	Eton won by an innings and 19
1823.	Eton won by an inns, and 32 runs.	T 12 18 18 18 18 18 18 18 18 18 18 18 18 18	runs.
1824.	Eton won by nine wickets.	1870.	Eton won by 21 runs.
1825.	Eton won by seven wickets.	1871.	Eton won by an innings and 77
1827.	Eton won by six wickets.		runs.
1828.	Eton won by three wickets.	1872.	Eton won by six wickets.
1832.	Eton won by an inns. and 156 runs.	1873.	Harrow won by five wickets.
1833.	Harrow won by eight wickets.	1874.	Eton won by five wickets.
1834.	Harrow won by 13 runs.	1875.	Unfinished.
1835.	Eton won by 165 runs.	1876.	Eton won by an innings and 24
1836.	Harrow won by nine wickets.	a property	runs.
1837.	Eton won by eight wickets.	1877.	Unfinished.
1838.	Eton won by an inns. and 30 runs.	1878.	Harrow won by 23 runs.
1839.	Eton won by eight wickets.	1879.	Unfinished.
1840.	Eton won by 31 runs.	1880.	
1841.	Eton won by an inns. and 175 runs	1881.	Harrow won by 95 runs.
1842.	Harrow won by 65 runs.	1882.	Harrow won by 112 runs.
1843.	Harrow won by 00 runs.		Unfinished.
1844.	Harrow won by 20 runs.	1883.	Unfinished.
1044.	Eton won by an innings and	1884.	Unfinished.
1045	69 runs.	1885.	Harrow won by three wickets.
1845.	Eton won by an innings and	1886.	Eton won by six wickets.
1040	194 runs.	1887.	Eton won by five wickets.
1846.	Eton won by an innings and	1888.	Harrow won by 156 runs.
***	135 runs.	1889.	Harrow won by nine wickets.
1847.	Eton won by nine wickets.	1890.	Unfinished.
1848.	Harrow won by 41 runs.	1891.	Harrow won by seven wickets.
1849.	Harrow won by 77 runs.	1892.	Harrow won by 64 runs.
1850.	Eton won by seven wickets.	1893.	Eton won by nine wickets.
1851.	Harrow won by eight wickets.	1894.	Unfinished.
1852.	Harrow won by 71 runs.	1895.	Unfinished.
1853.	Harrow won by three wickets.	1896.	Unfinished.
1854.	Harrow won by 98 runs.	1897.	Unfinished.
1855.	Harrow won by an innings and	1898.	Harrow won by nine wickets.
	66 runs.	1899.	Unfinished.
1858.	Harrow won by an innings and	1900.	Harrow won by one wicket.
	7 runs.	1901.	Harrow won by ten wickets.
1859.	Harrow won by an innings and	1901.	
2000.	48 runs.	1902.	Harrow won by eight wickets
1860.	Unfinished.	1905	Eton won by an innings and
1861.	Unfinished.	1001	154 runs.
1862.		1904.	Eton won by an innings and 12
1863.	Eton won by 64 runs.	7005	runs.
	Unfinished.	1905.	Unfinished.
1864.	Harrow won by an innings and	1906.	Eton won by four wickets.
1005	67 runs	1907.	Harrow won by 79 runs.
1865.	Harrow won by an innings and	1908.	Harrow won by ten wickets.
1000	51 runs.		
1866.	Harrow won by an innings and	CONTRACTOR OF THE PARTY OF THE	
	136 runs.	1334	

Eighty-three matches have been played, of which Eton have won thirty-one Harrow thirty-five, and seventeen have been drawn. This is the generally published record, but Harrow men object very strongly to the game in 1805 being treated as a regular contest between the two schools, contending that it is no more correct to count that than the fixture in 1857, for boys under twenty, which has been rejected.

Seventeen three-figure innings have now been played in matches between the two schools, as follows:— $\,$

183 D. C. Boles (in 1904), Eton. 112* A. W. T. Daniel (in 1860)	Harrow
152 E. Bayley (in 1841), Eton. 108 C. J. Ottaway (in 1860)	Tallow.
)), Eton.
	Harrow
135 A. K. Watson (in 1885), Harrow. 101 H. C. Pilkington (in 1896)), Hallow
135 A. K. Watson (in 1885), Harrow. 101 H. C. Pilkington (in 1896)	() Eton
), TI (OII.
124 J. H. Stogden (in 1895), Harrow. 100 E. Crawley (in 1886)	Hamour
), marrow.
120 B.J.T. Bosanquet (in 1896), Eton. 100 E.N.S. Crankshaw (in 1906)	Rton
117 A. W. Ridley (in 1871), Eton. 100* M. C. Bird (in 1907) Ha), 110011.
11. A. W. Ridley (in 1871), Eton. 100* M. C. Bird (in 1907), Ha	rrow
	TIOW.
114 C. P. Foley (in 1886), Eton. 131 M. C. Bird (in 1907), Ha	rrow
113 W. F. Forbes (in 1876) Eton	LLOW.

In making his 183 Boles set up a new record for the match, beating the 152 obtained in 1841 by Emilius Bayley, now the Rev. Sir John Robert Laurie. Bird in 1907 by scoring 100 not out and 131 performed a feat without precedent in the match.

	* Signifies n	ot ou	t.		
	0 × 0 0 (==============================) one		
July 10, 11, Leamington {	M.C.C. AND GROUND LEAMINGTON	1st inns 239 122	2nd inns. 188* 87	}	Result. Won by 218 runs. *Six wickets down.
vincent square	M.C.C. AND GROUND WESTMINSTER SCHOOL	114			Won by 96 runs.
July 11, Uxbridge {	M.C.C. AND GROUND UXBRIDGE	134 123	227*	}	Won by 11 runs. *Six wickets down.
$\frac{\text{July 11,}}{\text{Highgate} \dots}$	M.C.C. AND GROUND HIGHGATE SCHOOL	276 102	_	}	Won by 174 runs.
July 13, Coventry	M.C.C. AND GROUND COVENTRY AND NORTH WARWICKSHIRE	165 194		}	Lost by 29 runs.
July 14, Weybridge {	M.C.C. AND GROUND OATLANDS PARK	0 950		}	Wet.
July 14, 15, Warwick	M.C.C. AND GROUND GENTS OF WARWICK- SHIRE	181 160	52* 52†	}	Drawn. *Three wickets down. †Three wickets down.
July 15, East Molesey {	M.C.C. AND GROUND EAST MOLESEY	124 79	103*	}	Won by 45 runs. *Six wickets down.
July 15, Yalding {	M.C.C. AND GROUND THE MOTE	106 272	=	}	Lost by 166 runs.
July 15, Woodford Wells {	M.C.C. AND GROUND WOODFORD WELLS	152 60*	-	}	Drawn. *Five wickets down.
July 16, Dunchurch {	M.C.C. AND GROUND DUNCHURCH HALL	10 10 10 10 10 10 10 10 10 10 10 10 10 1		}	Wet.

July 16, Lord's	Actors	1st inns. 25*	-	Result. Drawn, Wet. *Three wickets down.
July 16, Chiswick {	M.C.C. AND GROUND			Wet.
	M.C.C. AND GROUND CROUCH END		= }	Wet.
July 16, 17, St. Albans {	M.C.C. AND GROUND HERTFORDSHIRE	. 137	= ;	Drawn. *Four wickets down.
July 17, 18, Lord's	M.C.C. AND GROUND . HOUSEHOLD BRIGADE .	. 172 . 69*	=	Drawn. Wet. *One wicket down.
July 17, 18, Rugby	M.C.C. AND GROUND RUGBY TOWN	. 299* . 109	98†	Drawn. *Six wkts. down. Deld. †Seven wickets down.
July 17, 18, Portsmouth	M.C.C. AND GROUND United Services C.C.	. 305* 179		Won by an innings and 28 runs. *Eight wkts. down. Deld.
July 18, Esher \dots	M.C.C. AND GROUND	. 107 . 115*	=]	Lost by four wickets and 8 runs. *Six wickets down.
	M.C.C. AND GROUND	74*	=]	Won by seven wickets and 3 runs. *Three wickets down.
July 22, Armoury House, Finsbury	M.C.C. AND GROUND Hon. Artillery Co	. 109 . 164	=]	Lost by 55 runs.
July 22, Coulsdon {	M.C.C. AND GROUND CANE HILL C.C	116 140	23*	Lost by 24 runs. *Three wickets down.
July 23, {	M.C.C. AND GROUND	237	_	Won by 151 runs.

July 24, 25, Bury St Edmunds	M.C.C. AND GROUND BURY AND WEST SUFFOLK	1st inns. 113	2nd inns. 108*	}	Result. Won by five wickets and 3 runs. *Five wickets down.
July 25, Windsor {	M.C.C. AND GROUND HOME PARK	162 68	88*	}	Won by 94 runs. *Six wickets down.
July 25, Worthing {	M.C.C. AND GROUND WORTHING	111 105	d	}	Lost by 6 runs.
July 25, Orpington {	M.C.C. AND GROUND GODDINGTON	271* 90		}	Won by 181 runs. *Seven wkts. Declared.
July 27, 28, Lord's{	M.C.C. AND GROUND GRANGE CLUB	345 122	218	}	Won by an innings and 5 runs.
July 27, 28, Lincoln	M.C.C. AND GROUND	49 131	73 67	}	Lost by 76 runs.
July 27, Beddington {	M.C.C. AND GROUND BEDDINGTON	104 84	45*	}	Won by 20 runs. *Nine wickets down.
July 27, Colchester {	M.C.C. AND GROUND COLCHESTER AND EAST ESSEX	231* 76		}	Won by 155 runs. *Eight wickets down. Declared.
July 28, Norbury {	M.C.C. AND GROUND NORBURY PARK	128 156	-1	}	Lost by 28 runs.
July 29, Horley	M.C.C. AND GROUND	87* 215	-	}	Drawn. *Nine wickets down.
July 29, Rickmansworth {	M.C.C. AND GROUND RICKMANSWORTH	203 212	94*	}	Lost by 9 runs. *One wicket down.
July 30,	M.C.C. AND GROUND	270*	A M	-	Won by three wickets

			MARLB	OROUG	H.				
Mr. A. D. Womers	lev h	Symond				ler-Ha	llett b	Symond	s 20
Mr. E. A. Shaw b J	AC	nningh	am						
Mr. E. A. Shaw Do	. A. O	111111111111111111111111111111111111111		18 -	- c Kir	ng h R	Cunni	ngham	18
Mr. G. H. Atkinson	LET	A Com	ning	10	C IXII	18 0 10.	Cummi	ngnam	10
Mr. J. B. Brooks lb				_	1. T			. LBREE	TO ALL
ham					- b J.				1
Mr R. O. Lagden b	Symo	onds		4 -	- cano	1 b R. (Cunnin	gham	84
Mr. H. S. Scott c J.	Cunn	ingham	b						
Charles	63		88	38 -	- c Mil	ler-Ha	llett b	R. Cunn	ing-
Charles				00					
		Ting h C	harlog	10				T. Cunni	
Mr. G. S. Leventho	rpe c	Aing b C	maries	49 -					
			301						
Mr. A. C. Wolfson	b R.	Cunning	ham		- st Ki	ng b C	harles		13
Mr. C. L. Norman	3 J.	Cunning	ham b						
Charles				2 -	- not c	out			2
Mr. R. G. W. Knig	ht h C	harles	Maria de la composición dela composición de la composición dela composición de la co					ngham.	21
Mr. R. G. W. King	של של שוון	marico						R. Cur	
Mr. L. D. Womersl	ey nou	out		40					
B 10, l-b 10,	w 3			23		B 8, 1-1	o 6, W 2	, n-b 1	17
The state of the s				-					-
			-	245					286
			Date	ans					
A STATE OF SALES	C1	1 337		GBY.	- c Kn	ight h	Wolfgo	n	4
Mr. G. D. Forrester	c Sna	w b wo	ison	17 -	- CKI	Igno D	W OILSO	ц	
Mr. R. S. Rait-Ke	rr c W	olfson b	Knight	7 -	- not	out			54
Mr S. A. Miller-Ha	llett st	t Shaw b	Knight	30 -	- b W	olfson			13
Mr. R. Cunninghan	n c A.	D. Wom	erslev b						
L. D. Womersley	7			33 -	- b W	olfson			0
L. D. Womerston	h Mon	mon							
Mr. R. W. Poulton	D MOL	man		14	b W	lfgon			
Mr. H. S. Sharp no	t out.			90 -	- D W	If an			0
Mr. P. S. Fraser c	shaw b	Knight			- p w	nosing			
Mr. N. H. H. Charl	es b K	night							4
Mr. W. R. King b	Wolfso	n		4 -	- b W				
Mr. J. A. Cunningh	am h	Wolfson		6 -	- c A.	Wome	rsley b	Wolfson	n 34
Mr. J. C. Symonds	h Tag	den		3 -	- c La	ventho	rpe b W	Tolfson.	7
Mr. J. O. Symonds	T 1 n l	1		18	R	5 l-h 3	w 1		9
B 11, l-b 5,	w 1,11-1	1		10	D	0, 1 0 0	, " -		_
				185					146
]	RUGBY	Bowl	ING.				
Account of the Atlanta	vers	Mdns.	Runs	Wkts.	0	vers]	Mdns.	Runs	Wkts.
THE RESERVE AND ADDRESS OF THE PARTY OF THE		3	67	2		15	2	69	1
Symonds	18						5	56	5
R. Cunningham .	12	3	29	1		19.4			2
Charles	15.4	2	68	4		16	2	61	
J. A. Cunningham	14	2	43	2		18	0	83	2
Fraser	2	0	15	0					
r raser	-								
			BOROUG			_	0	- 11	0
Lagden	16	2	26	1			2	11	0
Knight	16	3	54	4		15		42	1
Wolfson	17	3	49	3		23.5	8	68	9
	3	0	15	1	-				
L. D. Womersley		2	15			3	0	16	0
Norman	4					0	0	10	
A. D. Womersley	2	0	8	0					

Umpires: A. D. Pougher and C. E. Richardson.

1st 2nd inns. inns.

July 31, Aug. 1, { M.C.C. and Ground . 156 216 Cheltenham.... { East Gloucestershire 182 191* } Lost by four wickets. *Six wickets down.

CHELTENHAM v. HAILEYBURY.

Played at LORD'S, Friday, Saturday, July 31, August 1.—Time did not permit this interesting school match to be finished but, after an extremely close game up to a point, Haileybury secured a big advantage. They, however, left their declaration in the second innings too late, and Cheltenham managed to draw. The position was all in favour of Haileybury for the others with only three wickets in hand required 137 runs to win.

three wickets in hand required	137 runs to	o wii	1.				
	HAILE	VRIII	D.V				
Mr. E. M. Dawson b Reid Mr. R. S. Stafford run out	b Brown	1 7 45 25 9 6 14 68 67 8	- b I - b F - c O - c B - b F - c P - b B - run - c W - not	aget-Coronn out ynne-lout out out out	Dickins ooke b L	son on ight b Reid	$egin{array}{llll} 42 & & 26 & & & & & & & & & & & & & & & &$
	I and	286					*265
* I	nnings dec	clare	d close	d.			D -36
	CHELTE	CNHA	M.				
Mr. W. V. D. Dickinson c S	tafford b						
Waller		67 -	- not	out			57
Mr. D. O. Light b Waller		4 -	— b P	awle			14
Mr. G. McL. Paterson c Han Waller		-		0 33			1363
		9 -	- run	out	h Vina	• • • • • •	0
Mr. O. D. Paget-Cooke b Waller		0 -	— b P	awle	o King .		11
Mr. J. G. Reid st Mackenzie b	Waller	7 -	- not	out			91
Mr. E. L. Armitage c Mackenzie	b Pawle	16 -	— b K	ing			1
Mr. E. Mather o Pawle		52 -	— b Pa	awle			0
Mr. J. C. Wynne - Edwards st		0	1.0				D.M.
Mr. H. C. Onslow b Waller		0 -	- b D	awbarn	ı	• • • • • •	11
Mr. G. D. Wood b Dawson		20					
B 16, l-b 7, w 1		24	В	10. l-b	1, w 1		12
.000		-		,	-,		
	2	85					130
CHE	LTENHAM	Bow	LING.				
Overs Mdns.		Wkt		Overs	Mdns.	Runs	Wkts.
Dickinson 25 6	74	1		25	5	69	3
Reid 22 6	64	2		15	2	62	2
Brown	37	2		13	1	50	2
Onslow 9 3	35 17	1 0		2	0	10	
Light 7 2	15	2		6	1	19 26	0
Paterson 2 1	13	0			1	20	N. O.
THE RESERVE OF THE PROPERTY OF THE PARTY OF	ILEYBURY	Po	WIING				
Waller 28 4	77	6	WILING.	15	1	31	0
King 18 1	82	0		12	1	36	2
Pawle 21 2	62	3		13	3	23	3
Hammond 3 0	17	0		3	1	8	0
De Freitas 4 0	22	0		8	0	3	0
Dawson 2 1	1	1	• • • • •	7	1	17	1

Umpires: J. E. West and A. J. Atfield.

1st 2nd
inns. inns. Result.
August 1, M.C.C. AND GROUND 103 - Lost by 90 runs.
High Wycombe. \(\begin{align*} \text{High Wycombe} \\ \text{ 193 36*} \end{align*} \text{*Six wickets down.} \end{align*}
August 3. 4. M.C.C. AND GROUND 359 161* Drawn.
Lord's Departs Squares 299 1074 SIX WKIS, COWII. DCIG.
†Six wickets down.
Drawn.
August 3, M.C.C. AND GROUND 228* - Steight wkts. down. Deld, Brentwood 182† - Five wickets down.
†Five wickets down.
August 3, M.C.C. AND GROUND 129 — Lost by 62 runs.
Finchley FINCHLEY 191 211* *Six wickets down.
August 4 (M.C.C. AND GROUND 134 168*) Lost by 52 runs.
August 4, { M.C.C. and Ground 134 168* } Lost by 52 runs. Sunningdale { WINDLESHAM 186 — } *Six wickets down.
All the second of the second o
M.C.C. v. PUBLIC SCHOOLS.
Played at Lord's, Monday, Tuesday, August 4. 5.—Some promising cricket was shown in this annual fixture by the boys, of whom Susskind and Prest took
the honours in batting and Lagden in bowling. The game was drawn.
M.C.C.
Mr. G. W. Ricketts b Bannister 60 — not out 45 Hon. S. R. Beresford c Bannister b
Lagden 5 — b Lagden
Mr. R. H. Fox b Dickinson
Mr. B. S. Foster c Prest b Dickinson 93 — c Lang b Lagden 12 Capt. E. G. Wynyard c Bardsley b
Turner 33 — b Dickinson 58
Mr. E. D. Compton b Lagden 18
Mr. E. B. Noel b Lagden
Mr. C. G. Pope st Twining b Turner 12 Mr. M. E. Crichton-Maitland b Bannister 22
Mr. H. E. Crichton-Maitland b Bannister 22 Mr. F. B. Leney c Susskind b Dickinson 39 — b Lagden
Mr. C. Headlam not out 14 — b Lagden 15 B 17, l-b 7 24 B 5, l-b 3 8
359 *161
Innings declared closed. THE PUBLIC SCHOOLS.
Mr. W. V. D. Dickinson (Cheltenham) c
Beresford b Leney
Mr. M. J. Susskind (University College School) b Crichton-Maitland 87 — b Wynyard
Mr. R. V. Bardsley (Shrewsbury) c and b
Wynyard
Mr. H. E. W. Prest (Malvern) st Headlam b Noel 48 — c Foster b Leney 62
Mr. R. O. Lagden (Marlborough) c Pope
b Noel 33 — c Headlam b Fox 10
Mr. A. H. Lang (Harrow) b Ricketts 46 — c Fox b Crichton-Maitland 10 Mr. H.M. Bannister (Tonbridge) b Wynyard 30
Mr. A.P. Wilson (Charterhouse) c Crichton-
Maitland b Fox 34 — not out
Mr. F. G. Turner (Westminster) c Noel b
Mr. R. H. Twining (Eton) not out 3
Mr. A. C. N. Spicer (Bradfield) b Fox 0
B 5, 1-b 1, w 1 7 B 3, 1-b 1 4
333 127
000

		PUBLIC	В ВСНОО	LS Bo	WLIN	G.			
	Overs	Mdns.	Runs	Wkt	s.	Overs	Mdns.	Runs	Wkts.
Dickinson		6	103	3		15	2	56	2
Lagden	. 27	3	94	3		13	1	53	4
Bannister	. 24	4	92	2		5	0	29	Ō
Bardsley	. 7	5	11	0			da ero de	folio id	mind to
Spicer	. 2	1.9	6	0	200	6	001	15	0
Turner	4	0	29	2			Share!		201
			M.C.C.	Bow	LING.				
Fox	18	3	64	2		5	0	31	1
Ricketts		2	81	2	- 1				THE WAY
Leney		1	44	1		7	0	16	2
Foster		1	32	0		of Break	adal cons		Brest LT
Crichton-									
Maitland	8	1	39	1		4	0	20	1
Noel	11	1	36	2		13	1	47	î
Wynyard	11	0	30	2		5	3	9	î

Umpires: A. D. Pougher and T. Attewell.

	ny fi a wheet a see at	ALA.	THE PARTY OF	Mr. V. S. F. Clewrood o 15
Thomas is there		1st inns.	inns.	Regult
August 5, 6, Lord's	M.C.C. AND GROUND ROYAL ARTILLERY	262 165	143* 134†	Drawn. *Seven wkts down. Deld. †Eight wickets down.
August 5, Cuckfield {	M.C.C. AND GROUND Cuckfield	58*	TES LEGAL	Drawn. Wet. *One wicket down.
August 5, Witham	M.C.C. AND GROUND WITHAM	102*		Drawn. Wet. *One wicket down.
August 5, Chepstow	M.C.C. AND GROUND CHEPSTOW	253* 103	90†	Won by 150 runs. *Seven wkts down. Deld. †Four wickets down.
August 6.7, Melton Mowbray	M.C.C. AND GROUND EGERTON PARK	321 211	62* 68†	Drawn. *Seven wkts down. Deld. †Four wickets down.
$\begin{array}{c} \text{August 6,} \\ \text{Henley-on-} \\ \text{Thames} & \dots \end{array} \bigg\{$	M.C.C. AND GROUND HENLEY	1 3 5 98	141*	Won by 37 runs. *Five wickets down.
August 7, 8, Lord's {	M.C.C. AND GROUND HERTFORDSHIRE	318 197	100* 254	Drawn. *Seven wickets down.
August 7, 8, Bishop's Stortford	M.C.C. AND GROUND BISHOP'S STORTFORD	228 120	82* 184	Won by eight wickets. *Two wickets down.
August 8, Richmond {	M.C.C. AND GROUND RICHMOND	201 153		} Won by 48 runs.

PUBLIC SCHOOLS IN 1908.

ST. EDWARD'S SCHOOL, OXFORD v. ALL SAINTS' SCHOOL. BLOXHAM.

Played at Oxford, Saturday, May 16.—St. Edward's School won by 168 runs.

ST. EDWARD'S SCHOOL.

R. G. Barrett c and b Krüger 82 C. E. E. Cockey run out 10 O. C. Blencowe b F. Whiting 19 J. P. Higgs c Ostreham b Krüger 14 G. H. Bickley c F. Whiting b J.	C. L. Bleaden run out 13 K. Harding not out 4 C. E. Cleeve not out 7 Byes, &c. 15
Whiting	202
Duri b b. Willing	Dart did not bat

ALL SAINTS' SCHOOL,

MERCHANT TAYLORS' SCHOOL V. FOREST SCHOOL.

Played at Bellingham, Saturday, May 30.—Merchant Taylors won by 42 runs.

MERCHANT TAYLORS' SCHOOL.

K. M. Robathan b Copeland L. F. Schooling c and b Martyn F. W. R. Greenhill c Arrindell b Martyn	1 7 13	R. W. T. Cox c E. Spencer b Martyn W. J. Marchment lbw, b Martyn . A. F. Botham b Martyn	0 0
A. J. H. Roe c Copeland b Martyn. J. S. Ryan run out	0	11-1; Mr. 1. Williams, 17.0-2-60 1650skyte 45-40-40 + 0 ; Mr. 12 V. N	00

FOREST SCHOOL.

C. D. S. Arrindell c C. Spencer b Robathan	L.F.Copeland c Greenhill bRobathan 1 S. R. Martyn b Robathan 4 R. E. F. Shaw b Roe 8 F. R. Campbell not out 0 Byes, &c. 8
	the state of the s
J. T. Cole b Robathan 4	48
E. Spencer c and b Ryan	

ALDENHAM SCHOOL v. MILL HILL SCHOOL.

Played at Aldenham, Saturday, May 30 .-- Aldenham won by 43 runs.

ALDENHAM SCHOOL.

P. Blake c and b Harris J. Hunter b Scott O. J. Addyman b Knott C. J. J. K. Deakin b Knott P. C. Sainsbury c Atehley b Scott G. C. Hartley c Dexter b Harris E. H. Gurney c Atchley b Harris	26 18 2 15 15	J. N. Barstow c Scott b Harris 2 E. A. Hudson b T. D. Morgan 0 C. H. Trendell b T. D. Morgan 5 R. St. V. Bagnall not out 8 Byes, &c. 10
E. H. Gurney c Atchiey b Harris	0	105

MILL HILL SCHOOL.

. 8
. 0
. 1
11 2
. 2
62

BRIGHTON COLLEGE v. CHRIST'S HOSPITAL.

Played at Brighton, Saturday, June 6.—Brighton won by 162 runs.

BRIGHTON COLLEGE.

L. F. Doner b Simpson	
R. C. S. Johnstone b Dodd 2 P. H. Clarke b Simpson 19	_
W. M. Malleson b Davies	W. E. I. Read E. L. Turner did not bat.

^{*} Innings declared closed.

CHRIST'S HOSPITAL.

D. L. Drew b Turner			
W. J. Croker b Baker	5		
A. J. Leeming run out	17		
L. T. Dwelling c Clarke b Turner	2		
A. H. M. Salmon b Baker	4	not out	6
G. A. Barber c Pearce b Baker	14	— not out	26
G. Woodhouse c Johnstone b Baker	0		
W. J. Davies b Johnstone	10		
W. H. Field not out	5	- lbw, b Waterfall	13
H. H. Simpson c Clarke b Johnstone	0	Gardner a Buck b Casion	
S. R. Dodd b Johnstone	3		
Byes, &c	17	Byes, &c	3
200 200			_
Tomati .	83		48

ST. JOHN'S SCHOOL, LEATHERHEAD v. LANCING COLLEGE.

Played at LEATHERHEAD, Saturday, June 6.—The match was drawn.

LANCING COLLEGE.

E. G. S. Leadam b Vallings 3	C. S. W. Marcon c and b Knight 6
E. R. Hopewell c Hitchcock b	G. L. Selby not out 51
Knight 13	R. C. Birkett b Knight 1
I. A. Wilkinson c Rogerson b	M. C. Saunders not out 31
Hitchcock100	Byes, &c 6
A. O. Miles b Knight 1	. d. durany c Atomley b Marts 0
S. Dow c and b Vallings 31	*246
F. A. Woodard c James b Hitch-	C. F. Gordon did not bat.
cock 3	School and the second second second

* Innings declared closed.

ST. JOHN'S SCHOOL, LEATHERHEAD.

J. G. K. Vallings c Saunders b J. C. de V. Biss c Dow b Leadam 16

FOREST SCHOOL v. ELTHAM COLLEGE.

Played at Forest School, Tuesday, June 9.—Forest School won by 112 runs.

ELTHAN	
A. L. Gace b Martyn 19	S. Barber b Martyn 3
J. C. Frampton c Campbell b Martyn 2	H. A. Smith c Spencer b Miller 2
R. H. Whittall b Martyn 11	W. V. E. Morley c Killick b Martyn 0
A. W. Skinner b Martyn 4	J. E. Measham not out 0
M. Noott b Martyn	Byes, &c 8
J. M. Whittall lbw, b Martyn 2	The state of the s
C. F. W. Rawle b Miller 19	82
FOREST S	CHOOL
C. D. S. Arrindell b Noott 76	E. Spencer c R. H. Whittall b Rawle 6
T. A. M. Gardiner b Rawle 0	S. R. Martyn c Rawle b Noott 22
E. Morris c J. M. Whittall b Rawle. 33	R. E. F. Shaw c Rawle b Noott 17
L. C. Copeland b Noott 3	F. R. Campbell not out 0
J. T. Cole c Gace b Noott 0	Byes, &c 20
C. Miller c Morley b Noott 0	
F. H. Killick c Noott b Measham. 17	194

ST. EDWARD'S SCHOOL, OXFORD v. BEDFORD MODERN SCHOOL.

Dland at Ovenen Wadnacdan June 10 _ St Edward's won hy 08 runs

DULWICH COLLEGE.

C. W. Lamb b Bourdillon	21 8 5	E. J. Waddington b C. Marzetti. J. C. Coleman c Bilton b Bannister L. B. Gasson b C. Marzetti. C. A. Broadhurst b C. Marzetti Byes, &c	7 3 4
Marzetti	1		
J. C. Firth b C. Marzetti G. P. Jordan not out			80

REPTON SCHOOL v. UPPINGHAM SCHOOL.

Played at Repton, Wednesday, Thursday, June 10, 11.—Repton won by ten wickets. Sharp batted splendidly and beat J. N. Crawford's record of 163 for this fixture.

UPPINGHAM SCHOOL.

J. G. Fawcus c Sale b Fitzgibbon. J. F. Bishop b Gresswell H. Dowson c Sale b Vidler K. B. Harper c Fitzgibbon b Gresswell H. L. Newton c Fitzgibbon b Vidler F. H. Puckle lbw, b Altham G. W. Palmer hit wkt. b Altham E. S. Lennard not out C. S. Trubshaw c Sharp b Squire C. G. Tomlin run out G. W. R. Morgan b Vidler Byes, &c.	8 — b Fitzgibbon 84 7 — b Sale 25 0 — c Squire b Sale 25 1 — c Altham b Gresswell 11 21 — c Altham b Sale 10 26 — b Sale 19
Eing's School COLLEGE Contraction	_

REPTON SCHOOL.

H. H. Altham c Tomlin b Trubshaw 13 — not out
C. E. Squire c Bishop b Trubshaw 15 — not out 23
A T Condour a Homes h Dalman 17
A T Sharp not out
T D F Comphell b Ferrana 10
W. T. Gresswell c Fawcus b Trubshaw 36
T T C Widles b Touchelous
D. W. Ellis c Trubshaw b Lennard 30
D. F. Fitzgibbon not out
Ryog Are
*422
C. Furze did not bat.

* Innings declared closed.

LORETTO SCHOOL v. ROSSALL SCHOOL.

Played at MUSSELBURGH, Friday, Saturday, June 12, 13.—The match was drawn, rain preventing any play on the second day.

LORETTO SCHOOL.

F. E. Dempster st Wells b Sleigh R. D. Gillespie c Daly b Sleigh A. B. Clay st Wells b Squance R. M. Grant b Sleigh W. B. Campbell st Wells b Squance	12 1 0 2	b Squanceb Sleigh	2 2 7
P. M. Docker b Sleigh S. M. Gillespie b Furneaux G. L. Hunting run out R. F. Guthrie not out J. M. Kirkwood c Parrington b Sleigh	17 26 43 13 0	- c Wells b Squance	3 15 4
K. G. Murray c Davies b Sleigh	18	Byes, &c	

ROSSALL SCHOOL.

H. W. Ling c Grant b Dempster 24	H. J. Wratislaw not out 25
J. W. T. Lashmar c Clay b Dempster 24	T. D. Daly b Campbell
P. T. Furneaux b Gilespie 31 E. L. Squance c Docker b Demp-	G. B. Sleigh c Grant b Campbell. 7 G. B. Davies c Hunting b Camp-
ster 6	bell 3
F. L. Roupel c Hunting b Dempster 5	H. M. Wells c Murray b Dempster 6
W. F. Parrington c Hunting b Dempster	Byes &c
\$1000.0000	176

HAILEYBURY COLLEGE v. WELLINGTON COLLEGE.

Played at Haileybury, Friday, Saturday, June 12, 13.—And resulted in a fairly even draw. The scoring was prolific on both sides, 1,081 runs being obtained. Hammond, Kidd, and Arkwright played delightful cricket. Field bowled unchanged in Haileybury's second innings, taking seven wickets for 96 runs.

HAILEYBURY COLLEGE.

H. J. C. Hammond c Hutt b Burridge	94	- c Henderson b Field 25
G. L. Waller b Field	42	— c and b Field 43
E. M. Dawson c Loveless b Kidd	0	- c Hutt b Field 58
R. S. Stafford b Burridge	25	— c Field b Shakespear 11
F. L. Davies b Burridge	30	— b Shakespear 0
B. M. S. Mackenzie c Kidd b Paske	11	— b Field 5
W. P. Geen c and b Burridge	11	— c Shakespear b Field 24
J. M. DeFreitas c Burridge b Arkwright	66	— c Burridge b Field 13
E. Reynolds c Lindsay b Field	7	— not out 4
J. King c Shakespear b Arkwright	29	- c Lindsay b Field 0
W. L. Knowles not out	6	— b Kidd 7
Byes, &c	28	Byes, &c 42
	-	a dominio d'add mentor 'd' ra
to a transfer of the land	240	020

WELLINGTON COLLEGE.

C. G. Arkwright b Dawson	87	— not out 4	5
E. L. Paske lbw, b Waller	3	3 — not out	5
A. N. Hutt c Dawson b Waller	11	- run out	0
G. W. Lindsay b Dawson	27		
G. B. Henderson c and b Knowles	29	- b King	1
S. F. M. Ferguson b Knowles	37	— c and b Waller	3
E. L. Kidd b Waller	81	— b Dawson	3
D. H. Field c Stafford b DeFreitas	33	anguard vant vancend A.	
C. F. C. Shakespear c Hammond b King	74	Manual Control of American Section 1987	
M. L. Loveless not out	17	The Company of Walls b Semene	
H. G. Barridge b Hammond	0		
Byes, &c	28	Byes, &c	6
e			_
BA	427	7	3

ST. PAUL'S SCHOOL v. BEDFORD GRAMMAR SCHOOL.

Played at WEST KENSINGTON, Saturday, June 13. - And left drawn.

BEDFORD GRAMMAR SCHOOL.

N. S. Robinson not out
P. L. O. Hill not out
Byes, &c 16
*00.
*284
A. Grierson
A. Grierson H. V. Fanshawe did not bat.

* Innings declared closed.

ST. PAUL'S SCHOOL.

R. G. Spicer b Grierson 3 R. H. Hope run out 0	J. P. Sargent not out Byes, &c	
P. G. Fender b Grierson		202
P. J. F. Buckley not out 52	G. A. H. Ley	
The section of the best property of the	A. E. Bolter	
	C. O. Lilly E. W. Sharp	did not bat.
	H. F. Cartmel-	
	Robinson	

BRADFIELD COLLEGE v. DULWICH COLLEGE.

Played at Bradfield, Saturday, June 13.—And won by Dulwich by 172 runs. Meade's innings of 101 included one 5, and nineteen 4's.

DULWICH COLLEGE.

Dentitell	COLLEGE.
C. W. Lamb b Donne 32	E. J. Waddington b Calthrop 13
C. M. Keddie c Walker b Doone 20	E. C. Coleman c Wingate b Spicer 27
T. T. Waddington c Sloman b	L. B. Gasson b Calthrop 12
Lindsell 24	C. A. Broadhurst not out 22
H. R. C. Meade c Sloman b Calthrop101	Byes, &c 21
A. C. Green c and b Spicer 17	6 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
G. P. Jordan lbw, b Calthrop 11	302
T. C. Firth h Spicer 9	

BRADFIELD COLLEGE.

E. L. Ingpen b Gasson C. N. Spicer b Gasson A. E. P. Sloman run out R. C. Brooke c Coleman b Gasson G. B. Walker b Gasson	15 — run out	7
E. C. Calthrop run out	9 — b Coleman	4 6
A. C. Donne not out Byes, &c.	3 13 Byes, &c	4 50

FELSTED SCHOOL v. MERCHANT TAYLORS' SCHOOL.

Played at Felsted, Saturday, June 13.—And left drawn.

FELSTED SCHOOL.

L. S. M. Page b Ryan 7 E. W. Morris c Spencer b Robathan 1	K. M. B. Cross not out . Byes, &c	
J. E. Jewell C. Spencer b Roe 96 C. de C. Hamilton b Roe 47		*276
R. H. Heath b Roe 2	T G DI 1	
A. H. Burmann not out 58 D. Macmillan c Marchment b		id not bat.
Robathan 8	R. V. Routledge	

*Innings declared closed.

MERCHANT TAYLORS' SCHOOL.

K. M. Robathan b Jewell 4 J. S. Ryan b Jewell 18 L. F. Schooling not out 94	18 Byes, &c	
C. E. Spencer b Jewell 9		191
A. Roe b Jewell	R. W. T. Cox R. H. A. Newsome A. F. Botham F. J. Dove F. Marchment	did not bat.

EASTBOURNE COLLEGE v. LANCING COLLEGE.

Played at Eastbourne, Saturday, June 13.—Eastbourne won by 68 runs.

LANCING COLLEGE.

E. G. S. Leadam b Bourke 2	1 A. O. Miles b Coxhead 1
E. R. Hopewell c L. E. Dennys b	G. L. Selby c Maxwell b Bourke 35
Coxhead 2	M. C. Saunders b Coxhead 9
O. A. Wilkinson c L. E. Dennys b	C. F. Gordon c Tudor b Bourke 5
Maynard 27	R. O. Clark not out 11
S. Dow b Coxhead 15	Byes, &c 5
C. W. S. Marcon b Coxhead 28	-
F. A. Woodard b Coxhead 21	161

EASTBOURNE COLLEGE.

C. F. G. Schmieder b Leadam 5 R. E. Cranfield b Clark 20 M. E. Coxhead b Gordon 14 R. G. Tudor not out 86 B. J. Bourke b Leadam 15 E. M. Dennys c and b Leadam 7 L. E. Dennys b Selby 34 N. Maxwell c Dow b Leadam 0	H. A. V. Maynard c Leadam b Clark
A. C. Shekampeur - Inputessa to Kingg? L. La veless not con	T. S. Rabiu Meado

MILL HILL SCHOOL v. CITY OF LONDON SCHOOL. Played at MILL HILL, Saturday, June 13.—The home side won by 126 runs.

CITY OF LONDON SCHOOL.

W. B. Pickard b T. D. Morgan 11 J.F.Johns c M. B. Morgan b Harris 5	V. S. Taylor lbw, b Harris J. E. Elliott b Harris	
A. G. Doyle b T. D. Morgan 4 E. K. Smith c T. D. Morgan b	W. L. Williams c Knott b T. D. Morgan	4
Harris32	C. E. Layng not out	0
H. W. Tood lbw, b T. D. Morgan . 9	Byes, &c	7
A. L. Diss c M. D. Morgan b Harris. 6		-
F. A. Loveday lbw, b Harris 0	S. M. Page b Ryan T	78

MILL HI	LL S JHOOL.
E. Higham c Taylor b Layng	T. D. Morgan run out

ST. JOHN'S SCHOOL, LEATHERHEAD v. MERCHANT TAYLORS' SCHOOL.

Played at Bellingham, Tuesday, June 16.—The match was drawn.

MERCHANT TAYLORS' SCHOOL.

K. M. Robathan c Lewis b Evans 26	R. W. T. Cox b Knight 7
F. W. R. Greenhill c Evans b	C. L. Walker b Knight
Knight	A. F. Botham c Evans b Knight 1
T. S. Ryan c Parry b Knight 11	W. J. Marchment not out 0
L. F. Schooling c Parry b Knight 6	Byes, &c
C. E. Spencer run out 17	ASTTON SWIFFARMSUM
A. J. H. Roe c Rogerson b Knight 2	133
F. J. Dove st Lewis b Knight 6	Proped at Hatteourent, Taribless.

ST. JOHN'S SCHOOL, LEATHERHEAD.

R. Knight not out	H. C. James J. V. Hitchcock G. P. Pavey G. H. Lewis R. F. S. Parry W. H. Park W. J. L. Rogerson	did not bat.

CRANLEIGH SCHOOL v. ST. JOHN'S SCHOOL, LEATHERHEAD.

Played at Cranleigh, Wednesday, June 17.—St. John's won by 34 runs.

CRANLEIGH SCHOOL.

F. Morris st Lewis b Knight	H. G. Voice c Evans b Vallings. 0 E. J. Currie not out
St. John's School	, LEATHERHEAD.

ST. JOHN'S SCHOOL, LEATHERHEAD.	
R. Knight st Dreyfus b Winder . 10 J. C. de V. Biss b Watson 3 Ll. R. Evans c Wilson b Watson 0 J. G. K. Vallings c Wilson b Currie 13 H. C. James c Voice b Sprinks . 30 J. V. Hitchcock c Watson b White 0 C. P. Bever b Sprinks	7 11 0
H. C. James c Voice b Sprinks 30 J. V. Hitchcock c Watson b White 0	5

DOVER COLLEGE v. ST. LAWRENCE COLLEGE, RAMSGATE

Played at DOVER, Wednesday, June 17.—Williams took five wickets for 13 runs, and St. Lawrence College won by 258 runs.

ST. LAWRENCE COLLEGE.

H. F. Whitfield b Munns 0 D. C. G. Stileman b Watson 12 A. L. Hosie c Watson b Davison 48 H. C. Lloyd c Stafford b Watson 35 N. Weir c Hall b Watson 13	W. S. Hazledine c Hall b Davison 42 D. G. Shuttleworth b Munns 53 H. Baring c Davison b Munns 0 Byes, &c 25
A. H. Williams b Watson 2	295
J. D. Scott not out 38	
A. C. Champion c Stevens b Munns. 27	

DOVER COLLEGE

DOVER COLLEGE.		
Wheeler b Williams 0 Davison not out Maclaren run out 0 Hall c and b Wi Stafford b Williams 1 Watson b Willia Yearsley b Baring 7 A. N. Other abs Mason b Williams 5 Byes, &c.		; 1) 2
The state of the s	01	

POCKLINGTON SCHOOL v. DURHAM SCHOOL.

Played Thursday, June 18.—And resulted in a win for Pocklington by 61 runs

POCKLINGTON SCHOOL.

P. R. Wardroper b Hinde	H. M. Savery c Humphreys b Baker
-------------------------	-----------------------------------

Dublin	Cahaal	Matches.
1 work	Demoor	maiches.

DURHAM SCHOOL.

H. Hinde c Savery b A. H. Anson 5	J. Humphreys b A. H. Anson. 20
W. F. Maynard c and b A. H.	F. Ward b H. H. Anson 2
Anson 1	A. Maynard c A. H. Anson b H.
W. Fenwick b Sowerby 13	H. Anson 4
B. Cumberledge b A. H. Anson 33	C. G. P. Wells not out 0
A. J. Dingle lbw, b H. H. Anson 19	Byes, &c 10
A. Baker c and b H. H. Anson 6	8 CHARLES BERNER AND S. T.
P. Gedge b H. H. Anson 3	116

POCKLINGTON SCHOOL v. ST. PETER'S SCHOOL, YORK.

Played at Pocklington, Saturday, June 20.—Pocklington won by 49 runs.

ST. PETER'S SCHOOL.

T. Sullivan b A. H. Anson 41	C. C. Taylor b A. H. Anson	1
A. T. Peters c and b Anson A. H. 0	F. J. Ferguson b A. H. Anson)
P. G. Hendley b Grayburn 10	M. T. Beaumont not out 1	1
R. M. Wood lbw, b A. H. Anson 0	R. Foster b Grayburn)
G. F. Wallace c H. H. Anson b	Byes, &c	Ł
Grayburn 1	A STATE OF THE PARTY OF THE PAR	-
W. Ingham b A. H. Anson 1	67	7
A. A. Phillips b Grayburn 3	To the shellon canonase we me true	

POCKLINGTON SCHOOL.

P. R. Wardroper run out 1 H. A. Barnes c Hendley b Foster 49 2 C. S. Sterling b Sullivan 32 C. A. K. Peters b Ingham 2 H. H. Anson b Sullivan 6 A. H. Anson b Sullivan 7 P. C. Creathyrus b Ingham 0	H. M. Savery b Sullivan 0 F. C. Holden not out 8 R. G. Sterling b Sullivan 6 C. Davies b Sullivan 0 Byes, &c. 5
R. C. Grayburn b Ingham 0	, 110
	- O. Champion c Stevens b Minus . 27

BRIGHTON COLLEGE v. ST. PAUL'S SCHOOL.

Played at Brighton, Saturday, June 20.—And won by St. Paul's by 31 runs. Farmer played free cricket.

ST. PAUL'S SCHOOL.

R. G. Spicer c Dower b Baker	1 — st Pearce b Sheringham
P. J. F. Buckley b Johnstone J. P. Sargent c Pearce b Baker G. A. H. Ley b Baker	9
A. E. Bolter lbw, b Turner E. W. Sharp not out C. O. Lilly b Baker H. F. Cartmel-Robinson b Raker	12 — b Sheringham
Byes, &c.	

BRIGHTON COLLEGE.

	0 1111111111111111111111111111111111111
A. I. Sheringham st Ley b Sargent 2 H. K. Pearce c Lilly b Sargent 13	R. W. Bower run out

CHRIST'S HOSPITAL v. ST. JOHN'S SCHOOL, LEATHERHEAD.

Played at Horsham, Saturday, June 20.—Christ's won by 165 runs.

CHRIST'S HOSPITAL.

A. J. Leeming c Park b Vallings. 10 H. C. Pennington c Lewis b Vallings 24 R. S. Tonkin c James b Vallings. 2 A. H. M. Salmon lbw, b Vallings. 0 D. L. Drew b Hitchcock 11 W. J. Crocker c James b Hitchcock 57 L. T. Davelly lbw, b Vallings 1	G. A. Barber not out
---	----------------------

ST. JOHN'S SCHOOL, LEATHERHEAD.

SI. SOUND BOHOOM, LEATHERHEAD.
R. Knight b Dodd
ETHERE WITH PRINTED BY THE PRINTED B

UNIVERSITY COLLEGE SCHOOL v. CITY OF LONDON SCHOOL.

Played at NEASDEN, Saturday, June 20.—And resulted in a draw.

UNIVERSITY COLLEGE SCHOOL.

	COLLEGE SCHOOL.
C. O. C. Reilly b Layng 42	F. R. Burton not out 13
M. J. Susskind b Lavng	Byes, &c 28
F. A. Rojens c Taylor b Lavng 16	
S. R. Chant b Smith 34	*234
S. P. Cooling hit wkt. b Todd 68	P. Woollen
J. C. Taylor c Doyle b Todd 0	L. F. Potts did not bat.
P. H. Wells not out 33	G. W. McFadyean

* Innings declared closed.

CITY OF LONDON SCHOOL.

ELSTOW SCHOOL v. DUNSTABLE GRAMMAR SCHOOL.

Played at BEDFORD,	Wednesday, June	24.—And	won by	Elstow School	by 121
runs.	D DESCRIPTION OF THE				

ELSTOW SCHOOL.

R. O. Wever c Gutteridge b Wilkins 0 R. V. Prendergast b Wilkins 12 W. M. Dinkelspiel c Gutteridge b	R. V. Wheatley c Jenkins b Reid 68 A. F. Haylett not out
Reid 1 E. H. Saffery c Fabricius b Reid 8 H. S. Adams run out 6 D. M. Grant b Reid 60 H. R. Rennie b Wilkins 1	G. Macarthur . did not bat.

* Innings declared closed.

DUNSTABLE GRAMMAR SCHOOL.

F. C. S. Wilkins b Rennie	0 R. P. Ellis b Haylett	
F. A. M. Jenkins b Rennie	1 H. Richardson lbw, b Rennie 1	
W. S. Reid b Rennie		
R. C. Gutteridge run out	1 K. S. Rowden not out	
E. R. Fabricius b Haylett		4
F. D. O'Dell c Adams b Haylett 1	16	-
R. L. Klosz hit wkt. b Haylett 1	11 5	3
E. R. Fabricius b Haylett F. D. O'Dell c Adams b Haylett 1	0 Byes, &c	4

CITY OF LONDON SCHOOL V. CRANLEIGH SCHOOL.

Played at CAMFORD, Wednesday, June 24.—The game resulted in a draw.

CRANLEIGH SCHOOL.

R. M. D. Winder b Layng B. E. Dreyfus b Smith J. R. White c Smith b Layng F. Morris c Todd b Smith H. G. Voice not out Byes, &c.	5 52 47 42 27	E. J. Currie E. L. Watson H. H. Hockley H. E. Bawden F. O. Sprinks L. H. Broadstreet	did not bat,
	198		

* Innings declared closed.

CITY OF LONDON SCHOOL.

W. B. Pickard hit wkt. b Winder 7 J. F. Johns b Broadstreet 17 A. G. Doyle c Morris b Winder 5 G. K. Smith b Watson 24 H. W. Todd not out 42 Byes, &c. 16	G. Proudfoot J. G. Barnes J. Elliott V. G. Taylor C. E. Layng C. W. Bloomfield
111	Comment of the commen

CHARTERHOUSE SCHOOL v. WESTMINSTER SCHOOL.

Played at GODALMING, Friday, Saturday, June 26, 27.—Charterhouse won by an innings and 47 runs. The Charterhouse fielding in the visitors' second innings was admirable. For the winners Emley took four wickets for 47 in the first innings, and in the second bowled twenty-three overs (ten maidens) for 37 runs and six wickets. In the first innings Dickinson took five for 39.

WESTMINSTER.

F. G. Turner c Wilson b Emley F. G. Gow c Denison b Emley H. F. R. Rawson c Norris b Emley C. G. Reed b Emley E. C. K. Clarke run out H. N. Wood b Dickinson A. E. F. Wood c Emley b Dickinson J. W. Ferguson not out C. M. L. Circuitt b Dickinson J. S. Heaten Ellis b Dickinson R. R. Rawson c Wharton b Dickinson Byes, &c.	0 — b Sparrow 42 46 — b Emley 9 11 — lbw, b Emley 61 13 — lbw, b Sparrow 0 8 — c Wilson b Dickinson 24 4 — c Bury b Emley 20 3 — c Denison b Emley 20
On L' Broton's Ten do Sept Thinks 1	185 223

CHARTERHOUSE ..

C. O. H. Bury b A. Wood	H. W. Dickinson b Clarke 55 G. C. Dowling not out 78 H. B. Emley b A. Wood 37 Byes, &c. 41

SHERBORNE SCHOOL v. TONBRIDGE SCHOOL.

Played at Sherborne, Friday, Saturday, June 26, 27.—Tonbridge played fine cricket at every point and won by an innings and 76 runs.

TONBRIDGE SCHOOL.

C. E. Knight c and b Terry 4	C. H. Pillman c Taylor b Terry . 22 L. Marzetti b Sweet . 18 H. G. Pegg not out . 35 H. A. Robinson b Terry . 17 Byes, &c 15
------------------------------	--

SHERBORNE SCHOOL.

A CONTRACTOR AND	
A. C. Master st Robinson b C. Marzetti C. O'D. Carey c Pillman b Bannister T. R. Taylor c and b Bourdillon 1 - b C. Marzetti G. H. Shaw b Bannister 7 - not out A. B. Read b Bourdillon 26 - b Bannister A. W. Carr b Bannister 0 - b Bannister D. G. Smith b Bannister 0 - b Bannister E. G. T. Simey lbw, b Bourdillon 0 - b C. Marzetti H. C. Terry b Bourdillon 3 - b C. Marzetti G. C. W. Sweet not out 0 - b Bourdillon 1. N. Mason b Bourdillon 0 - b Bourdillon Byes, &c. 11 Byes, &c.	18 0 29 0 3 5 4 0 25
86	99

DULWICH COLLEGE v. ST. PAUL'S SCHOOL.

Played at DULWICH, Saturday, June 27.—And resulted in a win for Dulwich by five wickets. Waddington's 76 included thirteen boundaries.

ST. PAUL'S	SCHOOL.
R. G. B. Spicer run out	J. P. Sargent b Meade 28 A. E. Bolter b Keddie 9 E. W. Sharp c and b Keddie 5 H. F. Cartmel-Robinson b Meade 8
Gasson	I. Gluckstein not out
G. A. H. Sey c Firth b Meade 13	160

DULWICH	COLLEGE.	
C. W. Lamb c Farmer b Cartmel-	C. H. Keddie not out	
Robinson 7	Byes, &c	
T. T. Waddington b Fender 28		-
H. R. C. Meade c and b Sargent 29		22
A. C. Green lbw, b Farmer 39	A. M. Whitehead	
A. P. Thomson c Fender b Sargent 9	E. C. Coleman did n	not bat.
E. S. Waddington not out 76	J. C. Firth	tive treet.
The state of the s	L. B. Gasson	

ALDENHAM SCHOOL v. FOREST SCHOOL.

Played at Aldenham, Saturday, June 27.—Aldenham won by 295 runs.

FOREST SCHOOL.	
C. D. S. M. Arrindell c Deakin b Bagnall	10
C. Miller run out	83

ALDENHAM		
P. Blake c Miller b Copeland 50 P. C. Sainsbury c Spencer b Killick 22 O. J. Addyman not out	E. H. Gurney A. W. W. Ker J. N. Barstow R. St. V. Bagnall C. H. Trendell	did not bat.
378		

ST. JOHN'S SCHOOL, LEATHERHEAD, v. HIGHGATE SCHOOL.

Played at LEATHERHEAD, Wednesday, July 1.—Highgate School won by 114 runs.

HIGHGATE SCHOOL.

G. D. Berton c and b Vallings 2 J. T. Morris c Lewis b Vallings 0 W. G. Kay b Vallings 15 A. Antunovich c Brown b Vallings 3 C. F. Buck c Parry b James 48 A. N. Lushington c Lewis b James 20 G. R. Mackay c Park b Knight 49	C. A. Caslon c Evans b James

ST. JOHN'S SCHOOL, LEATHERHEAD. R. Knight b Phillips	a b Buck 7 c McCaw b
---	----------------------

SHERBORNE SCHOOL v. RADLEY COLLEGE.

Played at Sherborne, Wednesday, Thursday, July 1, 2.—The match ended in a win for Sherborne by 52 runs, being decided on the first innings, as previously agreed upon. RADLEY COLLEGE

CI D / I D :	COLLEGE.
C. L. Bruton b Tayler	12 — b Carr 16
T. Q. D. Babington run out	4 — lbw, b Sweet
H A Stuckey b Smith	± - 10w, b Sweet 75
II. A. DUUCKEY D DIIII III	IU - Ibw h Torrion
A Dualon C Mason D Smith	1 12 — run out
M. R. R. Vidal b Tayler	18 — b Terry
K M Nelson h Torry	16 — 0 Terry 18
To Do Norman D Lavier	
H. U. B. Sessions not out	10 — lbw b Tomer
A. L. Hill c Read b Terry	10 - 10w, b Telly 3
N. T. Amag b Marts	
N. L. Ames b Tayler	
H. F. Willcocks c Master b Terry	5 spilos i d vand a meyagar H
Byes, &c.	
D j co, &c	17 Byes, &c 35
	William and the store of the street of the s
	104 *258
	104 *258 eclared closed

	Timings decir		
~	SHERBORNE	SCHOOL.	
C. O'D. Carey b Willcocks	7	- not out	57
A. C. Master b Ames	9	- lbw b Willesely	
J. R. Tayler c Nelson b Ames.	59	b Willes I.	
G H Shaw e Nelson b Willege	lra 00	- 0 Willcocks	4
G. H. Shaw c Nelson b Willcoc	KS 22	— Ibw, b Vidal	25
II. D. Head b vidal	34	- h V1dal	4
			0
A. W. Call Cocsions D Ames			
D. G. Smith b Norman	1		
H. C. Terry not out			
G. C. Sweet c Sessions b Vidal			
T. Magan a and L. Wildel	0		
I. Mason c and b Vidal	6		
Byes, &c	20	Byes &c	19
	MACRON USE	2,00, 00,	19
	156		
	190		117

WINCHESTER v. ETON.

Played at WINCHESTER, Friday, Saturday, July 3, 4.—Illness kept four of the regular Winchester eleven out of the match and, thus weakened, the home the regular Winchester eleven out of the match and, thus weakened, the home side could not make much of a fight of it, Eton winning easily in an innings with 14 runs to spare. On the first day Huson played splendid cricket for two hours and forty minutes, hitting nine 4's. He received poor support, however, and the whole side were out for 238, Cartwright bowling with considerable effect. Against that Eton made 410 for six wickets before declaring, Windsor Clive and Cartwright putting on 143 in an hour and three-quarters for the sixth partnership. Both batted extremely well. Going in a second time, Winchester lost five wickets for 30 runs, but Fleming and Balfour made 61 together for the last wicket, and so put a little better appearance on the score. Once more last wicket, and so put a little better appearance on the score. Once more Cartwright bowled well, and in the whole match he had a record of ten wickets for 110 runs, in addition to scoring 102 not out.

WINCHESTER.

A. C. Huson c Worsley b Cartwright 116 — c Cartwright b Kenyon-Slaney L. H. Bury b Cartwright 0 — c Fowler b Kenyon-Slaney 128 Blood c Worsley b Cartwright 1 — b Cartwright 149 Cartwright 140 Eartwright 140 Eartwright 140 Eartwright 150 Eartwr	2444207 97 5
B 16, l-b 3, w 1, n-b 1	5
Carried to the control of the contro	-
238	8

ETON.

K. H. Twining b Trasenter 30	W. A. Worsley not out	
R. L. Benson c Gilroy b Balfour 51	B 15, l-b 4, w 2,	, n-b 3 29
E. W. Foljambe c Fleming b Balfour 6		oll o Elil a Lie
R. St. L. Fowler c and b Hornung. 28		*410
L. H. Tennyson c Gray b Fleming. 15	F. W. Gull	did not bat.
A. Windsor Clive b Fowler105	R. O. Kenyon-Slaney	Jana Hot Sac.
G. H. Cartwright not out102		
G. Cattley c Gilroy b Trasenter 25		

*Innings declared closed.

ETON BOWLING.

	Overs	Mdns.	Runs	Wkts.	Overs	Mdns.	Runs	Wkts.
Cartwright	19.1	2	51	5	17	2	59	5
Kenvon-Slaney		1	71	3	10	1	34	2
Fowler	7	1	28	()	5	1	14	()
Foljambe		0	19	()	2	0	9	0
Gull		0	23	0			2	
Tennyson	7	0	20	1	7	0	37	2
Clive		0	5	1				

WINCHESTER BOWLING.

Fleming	31	6	87	1
Balfour	30	1	130	2
Trasenter	28	7	55	2
Bury	14	2	54	0
Gray	7	0	15	0
Hornung	3	0	13	1
Fowler	6	0	32	1

CLIFTON COLLEGE v. MALVERN COLLEGE.

Played at CLIFTON, Friday, Saturday, July 3, 4.—The home team won by six wickets.

MALVERN COLLEGE.

H. S. K. Davies c Cleghorn b Brownlee .	15 — c Cleghorn h Brownlee	99
II. IV. KITDY C Grell D Ball	41 — c and h Brownlee	77
H. E. W. Frest D Ball	2 — h Ball	C
M. A. Foster c Tweedy b Richardson	99 — c Grell h Ball	10
O. v. roung c Tweedy b Richardson	19 — b Ball	5
ii. W. Lun C Gren b Browniee	17 c Tweedy h Richardson	17
G. D. Pidgeon c Whitehead b Ball	13 — h Ball	11
R. C. Burton e Clegnorn b Ball	5 c Cleghorn h Brownlee	10
J. A. C. Toung not out	17 — h Rall	()
R. D. Harding b Ball	1 — not out	1
C. K. Anderson b Brownlee	0 — h Ball	1
Byes, &c.	16 Byes, &c.	0
Thered at Westanovourses with the		8
63	175	07
等 化几层 Ma 20 在60 在60 在50 在50 在50 在50 在50 在50 在50 在50 在50 在5		97

CLIFTON COLLEGE.

Chifion	COLLEGE.
C. R. Cleghorn run out	. 2 — c Kirby b Tuff
It. D. Clew C naruling D 1111	4 — b Tuff
J. H. E. Whitehead b Tuff	. 62 — c Davies b Burton 12 42 — not out
W. M. Brownlee run out O. M. Tweedy b Harding.	() not out
P. J. Richardson not out	13
S. N. Grell b Tuff E. C. Ball b Tuff	6 A CANDES OF THE PROPERTY OF
G. V. A. Mathias c and b Harding	. 16
Byes, &c.	. 31 Byes, &c
	195

FELSTED SCHOOL v. KING'S SCHOOL, CANTERBURY.

Played at Felsted, Friday; Saturday, July 3, 4.—Felsted won by 35 runs, the match being decided on the first innings.

KING'S SCHOOL, CANTERBURY.

	-,
H. Gardner c Payne b Routledge A, C. Fluke c Page b Routledge	50 — c Jewell b Blackmore 3
R. E. Martin b Blackmore	40 — not out 48
R. E. Martin b Blackmore	40 — c Routledge b Blackmore 24
C. J. M. Adams C Morris D Jewell	9 — c Page h Payne
II. I alsons c Fage II Jeweii	13 — c Payna h Blackmone
C. F. Freeborn run out	30 — a Towall b Darma
C. S. Merrett c Page b Blackmore	o — c Jewell b Payne 1
C. F. Horrell a Hamilton I Did	0 — c Heath b Payne 6
G. F. Howell c Hamilton b Blackmore	2 — c Jewell b Payne 13
D. V. Dunlop not out	0 — c sub b Blackmore 3
E. P. Collings c Morris b Blackmore	0 — not out
L. G. Denne b Blackmore	0 — not out 32
Denne o Diackmore	0 — did not bat 0
Byes, &c	8 Byes, &c
formula have 1	00
10000 00121	151

Public	School	Matches.

FELSTED SCHOOL.

L. S. M. Page c Martin b Dunlop J. E. Jewell c Howell b Denne	. 86 — lbw, b Dunlop	6 32
C. de C. Hamilton c Dunlop b Denne		
R. H. Heath c Gardner b Denne		
K. M. B. Cross c Merrett b Collings		
A. H. Burmann lbw, b Dunlop		
E. W. Morris run out	. 97 — not out	3.1
E. W. Morris run out	. 27 1106 000	01
D. Macmillan st Freeborn b Dunlop		
L. G. Blackmore not out		
R. V. Routledge c Merrett b Dunlop		
G. C. Payne c Freeborn b Collings	· Danderson o Brownian	0
Byes, &c	. 34 Byes, &c	3
The state of the s	C. T A Kanerus . Rismey h Paris	
	223	75

GIGGLESWICK SCHOOL v. SEDBERGH SCHOOL.

Played at GIGGLESWICK, Saturday, July 4.—Sedbergh won by 193 runs.

SEDBERGH SCHOOL.

J. H. B. Lockhart b Sandys 1	P. H. Jennings lbw, b Alderton 0
W. Thursby b Alderton 19	F. Ritson lbw, b Alderton 12
J. A. N. Scott c Alderton b Nichol-	C. V. Peat not out 6
son 22	Byes, &c
J. E. Inglis c Rippon b Geiler 84	The U. A. Chill Control of the Part of the
J. C. Calvert c Johnson b Sandys 8	*228
E. W. N. Wooler b Worswick 38	G. H. Maxwell did not bat.
C. Q. Sawyer not out 31	The state of the s
* Tuninga da	hopola homala

* Innings declared closed.

GIGGLESWICK SCHOOL.

H. F. Johnson b Lockhart 13 A. E. Sandys c and b Lockhart 1 F. Worswick c Wooler b Jennings 3 E. A. Platt lbw, b Lockhart 2 F. W. Sykes c and b Lockhart 12	N. Rippon not out
W D Nicholson h Lockhart 0	A1A . 400 00 00 00 10 10 10 35

HIGHGATE SCHOOL v. MILL HILL SCHOOL.

Played at HIGHGATE, Saturday, July 4.—In an exciting finish time was called when another over would probably have given Mill Hill the victory, only four runs being required.

HIGHGATE SCHOOL.

A. N. Lushington c T. D. Morgan	C. F. Drew b Bull 11
b Harris	C. A. Caslon not out 26
H. V. Bury c Lloyd b Pettit 86	P. R. Phillips not out 9
C. F. Buck b Harris 0	Byes, &c 25
G R Mackay b Lloyd 6	The state of the s
C. D. Burton c Spicer b Bull 12	*220
W G Kay b Lloyd 0	O. C. McCaw did not bat
A. Antunovich c T. D. Morgan b	
Pottit 29	

* Innings declared closed.

MILL HILI	SCHOOL.
G. E. Spicer c Caslon b Phillips 0	H. Pettit not out 13
M. D. Morgan st McCaw b Mackay 65	Byes, &c
A. H. Bull c Drew b Phillips 0	The state of the s
A. F. Rook c Caslon b Drew 64	217
T. D. Morgan run out 25	THE REAL PROPERTY.
T. W. Lloyd c Caslon b Phillips 10	J. E. Dexter
N. E. P. Harris not out 13	R. W. Atchley did not bat.
A. N. Scott c Antunovich b Mac-	Charles of the state of the sta
kay 0	

WELLINGBOROUGH GRAMMAR SCHOOL v. ELSTOW SCHOOL.

Played at Wellingborough, Saturday, July 4.—The match was left drawn.

117		
I. R. Hammond not out	GRAMMAR SCHOOL. E. Tanner	
M. E. Bowmer lbw, b Prendergast. 39 B. A. Bashforth c Haylett b Rennie 30 J. C. Bland b Wheatley 15	A. J. Wright R. C. Symons J. Chalcraft	did not hat.
R. D. Carter not out 1 Byes, &c. 20	G. W. Palfreyman	Hughes o Sale
*207	300	
* Innings decl	lared closed.	

Tinnings dec		
ELSTOW R. V. Prendergast c Wood b Palfrey- man	School. R. Wheatley H. Adams R. Rennie A. F. Haylett G. Macarthur	did not bat.

ST. JOHN'S SCHOOL, LEATHERHEAD v. FOREST SCHOOL.

Played at Leatherhead, Saturday, July 4.—And won by St. John's who were 119 runs in front with five wickets to fall when play ceased.

Jasey a box openished has present	
C D A I II W III FOREST	SCHOOL.
C. D. Arrindell cVallings b Hitchcock 37	F.W. H. Nicholls eVallings b Hitch-
F. A. M. Gardiner b James 11	cock 1
E. Morris c Vallings b James 7	F. R. Campbell c Vallings b Hitch-
L. E. Copeland c Biss b James 0	cock composite varings b filteri-
C. Miller lbw, b James 21	cock 0
E. Spencer c Biss b James 0	S. R. Martyn not out 4
S H Villick a Dieg b Tanas	Byes, &c 4
S. H. Killick c Biss b James 0	TE : FRAME OF MARKET D DICKERS OF THE
J. F. Cole c and b James 13	98
ST TOTTY'S CO.	
II P Evans a Cardinar b Mills	HOOL, LEATHERHEAD
Ll. R. Evans c Gardiner b Miller 26	J. C. de V. Biss not out 24
R. Knight b Gardiner 53	Byes, &c 14
H. C. James b Copeland 54	tink of marking to the com-
J. G. K. Vallings not out	217
G. P. Pavey c and b Copeland 0	J. V. Hitchcock
G. H. Lewis c Morris b Spencer 0	R. F. S. Parry
or and or a control of open color	
	··· II. I WIK
	W. J. L. Rogerson

MALVERN COLLEGE v. REPTON SCHOOL.

Played at MALVERN, Wednesday, Thursday, July 8, 9.—Repton won easily by an innings and 83 runs.

REPTON SCHOOL.

H. S. Altham c M. Foster b Tuff 63 C. E. Squire c M. Foster b Tuff 13		t out 20 15
R. Sale c Prest b Burton 32 A. E. Cardew b Burton 1		*263
A. T. Sharp not out	D. Fitzgibbon J. L. S. Vidler W. B. Franklin	did not bat.
Anderson		

* Innings declared closed.

MALVERN COLLEGE.

O. Hughes c Sale b Greswell H. S. Keevil-Davies c Altham b Greswell	1 — b Greswell 9 — c Fitzgibbon b Greswell	14 5
H. E. W. Prest run out	1 — c Squire b Greswell	32
M. K. Foster b Vidler	0 — c and b Greswell	8
H. K. Kirby c Sharp b Vidler		2
F. N. Tuff c Sharp b Greswell		3
N. J. A. Foster c Fitzgibbon b Greswell.	0 — b Greswell	0
G D Pidgeon b Greswell	8 — b Greswell	1
R. C. Burton c Campbell b Greswell	11 — not out	
P. D. Harding c and b Greswell	2 — b Vidler	1
C. R. Anderson not out	11 — c Cardew b Vidler	
Byes, &c.	5 Byes, &c	13
2,00,000		-
	99	81

CHELTENHAM COLLEGE v. CLIFTON COLLEGE.

Played at CHELTENHAM, Friday, Saturday, July 10, 11.—Cheltenham won by six wickets. Some fine bowling by Brown and Dickinson and a great innings by Light enabled the home team to gain a surprising victory.

CLIFTON COLLEGE.

C. R. Cleghorn b Dickinson	14 11 16 17 4 2 0 0
G. N. Grell c Armitage b Reid 0 — st Mather b Dickinson E. C. Ball c Cooke b Reid 0 — b Dickinson E. L. A. Mathias not out 3 — not out Byes, &c. 8 Byes, &c.	0
Byes, &c	76

CHELTENHAM COLLEGE.

W. V. Dickinson b Ball D. O. Light b Ball H. W. Brown b Brownlee J. G. Wynne-Edwards c sub b Whitehead G. M. Paterson b Brownlee E. Mather c Ball b Whitehead J. G. Reid not out E. L. Armitage st Cleghorn b Whitehead O. D. Paget-Cooke c Mathias b Ball	22 — c Whitehead b Ball 88 7 — b Brownlee 1 32 0 — c Cleghorn b Whitehead 27 15 — c Mathias b Ball 34 36 5 — not out 5
H. C. Onslow b Ball D. O'Callaghan b Ball Byes, &c.	28 movement deposite W 24.0

UPPINGHAM SCHOOL v. HAILEYBURY COLLEGE.

Played at UPPINGHAM, Friday, Saturday, July 10, 11.—And won by the visitors by seven wickets.

UPPINGHAM SCHOOL.

J. G. Fawcus b Waller H. Dowson b King E. S. Lennard c Geen b Waller H. L. Newton c Geen b Waller J. F. Bishop b Pawle F. H. Puckle c Geen b Pawle A. P. Graves c Stafford b Waller G. W. Palmer run out C. S. Trubshaw c Pawle b Waller C. G. Tomlin b King E. E. Raven not out Byes, &c.	3 — b Waller 40 — c Geen b Waller 8 — c De Freitas b Waller 16 — lbw, b Pawle 8 — b Waller 11 — c Mackenzie b Waller 2 — c Mackenzie b Waller 45 — b De Freitas 6 — b Pawle	14 7 3 14 3 0 0 55 13
W. For h Hollower	156	96

HAILEYBURY COLLEGE.

H. J. C. Hammond c Puckle b Palmer	5 — c Dowson b Palmer 41
G. 12. Waller c and b Raven	34 — h Rayen
n. S. Stanord run out	13 — not out.
W. Cooper b Trubshaw	11
W. P. Geen lbw, b Dowson	24 not out
E. M. Dawson b Dowson	26 Downson L. W. 1 1
F. L. Davies c Palmer b Dowson	50 — C Dowson b Trubsnaw 9
P. H. S. Mackengie b. Davier	
B. H. S. Mackenzie b Raven	
J. M. De Freitas c Tomlin b Trubshaw.	46
B. Pawle not out	20
J. King b Trubshaw	0
Byes, &c.	9 Byes, &c 6
TEXASERIOR O MOMENTAL DEL	208 donalis d namey N

BRIGHTON COLLEGE v. LANCING COLLEGE.

Played at BRIGHTON.	Saturday	Tarlar 11	-Brighton	won	by seven	runs
Planea at BRIGHTON.	Saturaay.	July 11.	-Drighton	WOIL	by seven	I CHILD.

T	Correge
LANCING	COLLEGE.

A O. Miles b Turner E. R. Ropewell b Turner D. A. Wilkinson c Johnstone b Read	17 — not out	
S. Dow b Johnstone		
E. G. S. Leadam b Malleson	26 — c Clarke b Turner 22	
G. L. Selby b Johnstone	1 — not out 13)
C. S. W. Marcon b Johnstone	O La Company and the Company of	
M. C. Saunders not out	9	
C. F. Gordon b Malleson	0 — b Turner 0)
OH I MANUAL WAY	Byes, &c 8	,
	*131	

* Innings declared closed.

BRIGHTON COLLEGE.

DRIGHTON COLLEGE.	
	ers
A. I. Sheringham c Selby b Gordon 55 — c Selby	b Saunders 9
R. W. Dower b Saunders	
V. Waterfall c and b Saunders 0	
L. F. Dower b Leadam 8	
E. L. Turner lbw, b Leadam	
Byes, &c 6 Byes, &	c <u>5</u>
	48

RADLEY COLLEGE v. BRADFIELD COLLEGE.

Played at RADLEY, Saturday, July 11.—Radley College won by 11 runs.

BRADFIELD COLLEGE.

E. L. Ingpen b Willcocks 2	C. H. March not out 31
A. C. N. Spicer c Lessions b Will-	H. E. Dixon b Ames 15
cocks 28	K. Hartree b Ames 0
A. E. P. Sloman b Ames 5	P. Gray b Ames 2
E. E. Calthrop b Willcocks 49	Byes, &c 16
R. S. Lindsell b Ames 12	170
G. B. Walker c Bruton b Ames 12	172
R. E. L. Wingate lbw, b Ames 0	
RADLEY	COLLEGE.
C. L. Bruton c Hartree b Walker 35	H. C. B. Sessions not out 11
T. Z. D. Babington c Dixon b Walker39	N. C. Ames b Gray 2
H. A. Strickey st March b Walker 9	H. F. Willcocks c Wingate b
N. St. J. G. D. Buxton run out 24	Walker 9
	Byes, &c 10
	183
M. R. R. Vidal c Lindsell b Gray	Byes, &c

BEDFORD MODERN SCHOOL v. WELLINGBOROUGH GRAMMAR SCHOOL.

Played at BEDFORD, Saturday, July 11.—And won by the home team by 11 runs.

WELLINGBOROUGH	GRAMMAR SCHOOL.
T. R. Hammond b Berkeley 21 H. E. Bowmer lbw, b Berkeley 3 J. C. Bland run out 39 B. A. Bashforth b Liffen 1 A. J. Wright b Berkeley 18 E. Tanner b Berkeley 18 R. D. Carter b Liffen 2	K.G.Symons c Ricketts b Berkeley 9 G. W. Palfreyman c Dare b Liffen 16 H. H. Ryland not out 0 J. L. Wood b Berkeley 0 Byes, &c. 9
REDEORD MA	DEEDN SUITOOF

	TO DESCRIPTION .	
N. Allen c and b Bowmer	J. H. Dare st Hammond b Wright	13

F. W. L. Smith c Wood b Bowmer 15
R. C. Berkeley b Bowmer 0
E. G. Taylor b Wright 12
D. V. Duncan b Ryland 9

BEDFORD GRAMMAR SCHOOL v. LEYS SCHOOL.

Played at Bedford, Saturday, July 11.—Leys won by 36 runs. Leys School.

	SCHOOL.
N. J. Holloway c Phillips b Grierson 7 C. Pinkham c Phillips b Foy	W. Sutcliffe b Foy 8 C. W. Dyer c Wilkinson b Foy 3 H. M. C. Hosegood b Grierson
	AMMAR SCHOOL.
Manney 1 O 11 11	
Morgan b Quibell 0 Briggs c Salter b Hawkins 5 T. B. Phillips c Dyer b Quibell 0 H. O. Sutherland Ibw, b Quibell 18 R. C. Wilkinson b Holloway 30 L. J. Lightfoot c Holloway b	Reeves c Williams b Holloway 5 E.J. Lutyens c Williams b Holloway 1 P. C. Hill c Williams b Hawkins . 15 H. Grierson not out 0 Byes, &c 2

MERCHANT TAYLORS' SCHOOL v. LEYS SCHOOL.

Hawkins 0 W. Foy b Holloway 14

Played at Bellingham, Saturday, July 11.—And left drawn. The last four wickets were lost in trying to hit off the runs.

DIEROHANI IAI	LORE SCHOOL.
K. M. Robathan lbw, b Holloway 43 J. S. Ryan c Holloway b Hawkins 27	R. W. Cox st Williams b Holloway 3 W. H. Pridden c Williams b Qui-
F. W. Greenhill c Williams b Hawkins	A. F. Botham b Hawkins
C. E. Spencer st Williams b Holloway	C. H. Wakely b Quibell 1 Byes, &c 8
A. J. H. Roe not out	169

LEYS SCHOOL.

O. Pinkham c Greenhill b Ryan 34	O. C. Hawkins e Schooling b Ryan 3
E. A. Salter b Ryan 8	H. M. C. Hosegood not out 20
R. H. Williams run out 6	S. B. Quibell not out 1
N. J. Holloway c Greenhill b Ryan 44	Byes, &c 15
R. W. Adam b Greenhill 28	II H. H. amana a Berkelov II
E. F. Wilkinson lbw, b Roe 1	160
A. M. Holman c Pridden b Ryan 0	C. W. Dyer did not bat.

BEDFORD MODERN SCHOOL v. DUNSTABLE GRAMMAR SCHOOL.

Played at BEDFORD, Wednesday, July 15.—Bedford won by 41 runs.

BEDFORD MODERN SCHOOL.

G. N. Allen b Reid	9 — run out 9
W. O. Palmer b Wilkins	O samuel d boots o distant I for the
E. L. Ricketts b Wilkins	17 — b Reid 5
F. W. L. Smith run out	6 - b Reid 4
J. H. Dare b Wilkins	2 — b Reid 12
A. D. Marshall c Ellis b Wilkins	14 — not out 28
R. C. Berkeley c Odell b Reid	0
D. V. Duncan c Odell b Wilkins	
G. T. Liffen b Reid	
G. P. Armstrong b Wilkins	3 1 not out 5
S. J. Palmer not out	1 not out 5
Byes, &c	12 Byes &c 21
THE RESERVE THE PARTY OF THE PA	L. J. McBoway e Phillips b Grierson
	74 *84
# T	1

* Innings declared closed.

2
3
0
-
1
0
10
10
16

BEDFORD GRAMMAR SCHOOL v. MERCHANT TAYLORS' SCHOOL.

Played at BEDFORD, Wednesday, July 15.—After a very exciting finish the match resulted in a draw.

MERCHANT TAYLORS' SCHOOL.

K. M. Robathan not out 8	6 R. W. T. Cox lbw, b Grierson 1
F. W. R. Greenhill b Grierson	
L. F. Schooling c Foy b Lutyens 1	5 A. F. Botham c Lightfoot b Foy 3
C. E. Spencer c Phillips b Grierson.	5 C. H. Wakely b Grierson 1
A. J. H. Roelbw, b Grierson 1	1 Byes, &c
R. H. A. Newsome c and b Hill 1	6
J. S. Rvan lbw, b Fov	3 161

BEDFORD GRAMMAR SCHOOL.

L. J. Lightfoot b Robathan 6 F. S. L. Spalding b Ryan 9 P. A. Foy b Robathan 30 H. O. Sutherland run out 69	P. L. O. Hill not out 6 H. V. Fanshawe c and b Ryan 0 Byes, &c
R. C. Wilkinson c Ryan b Robathan 5 H. J. Moran c Greenhill b Ryan 8 B. T. Phillips b Ryan 8	E. J. Lutyens H. Grierson did not bat.

WELLINGTON COLLEGE v. CHARTERHOUSE SCHOOL.

Played at Wellington College, Saturday, July 18.—Charterhouse won by 67 runs.

WELLINGTON.

E. L. Kidd c Wilson b Emley 41	G. F. C. Shakespear b Dickinson. 35 M. L. Loveless b Dickinson. 5 H. G. Burridge not out . 7 R. L. Bowen c and b Emley . 2 Byes, &c
--------------------------------	---

CHARTER	HOUSE,
R. W. Sparrow b Kidd 7 D. Lumsden c Field b Kidd 0 G. C. W. Dowling c Burridge b 31 H. N. Atkinson b Kidd 102 H. A. Denison c Kidd b Bowen 1 A. P. Wilson c Ferguson b Kidd 24 R. M. Weeks b Parke 29	A. F. Wharton c Shakespear b Kidd 0 R. E. Norris b Shakespear 29 H. W. Dickinson not out 4 H. B. Emley c Kidd b Shakespear 0 Byes, &c 18

BRIGHTON COLLEGE v. DULWICH COLLEGE.

Played at Brighton.—A good game ended in a win for Dulwich by 32 runs.

BRIGHTON COLLEGE.

W. M. Malleson b Meade A. I. Sheringham b Gasson L. F. Dower b Meade R. W. Dower not out R. C. S. Johnstone b Waddington V. Waterfall b Meade H. K. Pearce b Gasson	20 1 73 16 4	P. H. Clarke b Firth

DULWICH COLLEGE.

T. T. Waddington b Turner C. M. Keddie c Waterlafl b Turner H. R. C. Meade b Turner C. W. Lamb c Baker b Turner A. C. Green b Read A. P. Thomson b Read E. O. Coleman not out	20 36 13 8	E. T. Waddington lbw, b Read J. C. Firth c Malleson b Baker 4 A. M. Whitehead lbw, b Turner L. B. Gasson c Clarke b Baker 1 Byes, &c 2	3 7 3 8

AVERAGES.

ALDENHAM SCHOOL BATTING.

	Inning	4	Runs		Most in a innings	n	Times not out	Average
C. J. J. K. Deakin		Jane I	345		99		1	34.50
O. J. Addyman			294		113*		1	29.40
A. W. W. Ker			131		50		1	26.20
R. St. V. Bagnall			96		34		3	24.00
P. Blake			253		75		0	23.00
G. C. Hartley			159		62*		3	22.71
P. C. Sainsbury	10		211		54		0	21.10
J. Hunter	11		140		45		1	14.00
E. H. Gurney	8		102		64		0	12.75
J. N. Barstow	9		60		24		1	7.50
J. M. Smith	2		6				1	6.00
		* 5	signifies 1	not o	out.			IN A REL

ALDENHAM SCHOOL BOWLING.

	Overs	Overs Maidens		Runs Wickets			Average	
J. M. Smith	21.2		3	E. A.	60		7	 8.57
R. St. V. Bagnall .	143		49		284		29	 9.79
J. N. Barstow	72		15		206		15	 13.73
A. W. W. Ker	161.5		51		421		29	 14.51
P. C. Sainsbury	15		0	"	60		4	 15.00
E. H. Gurney	8		2		38		2	 19.00

BEDFORD GRAMMAR SCHOOL BATTING.

					Most in	an	Time	es	
	Inning	S	Runs		innings		not or	it	Average
H. O. Sutherland			570		93	4	0		35.62
R C. Wilkinson			370		89		2		30.83
P. A. Foy		8.51	313		102*	-MOT	3	19.50	28.45
H. J. Moran			258		63		3		23.45
T. B. Phillips			223		48		1		17.15
N. Maltby		a	46		25		0		15.33
L. J. Lightfoot		31	221	9.	53			1	13.81
N. S. Robinson		mT I	64		19		2	1.	12.80
P. L. O. Hill			71		26		2		10.14
H. Grierson					14		4		
F. S. L. Spalding			23		10		0		4.60
E. J. Lutyens			13		4		1		3.25
		* 5	onifies n	ot o	nt.				

BEDFORD GRAMMAR SCHOOL BOWLING.

	Overs	Maide	ns	Runs	,	Wickets	Average
H. Grierson	297	 72		929		54	 17.20
P. A. Foy		 38		604		35	 17.25
P. L. O. Hill		 8		276		13	 21.23

BERKHAMSTED SCHOOL BATTING.

	Innings		Runs	M	ost in an innings	Times not out	Average
E. C. Bisshopp	13		432		114	 2	39.27
E. L. Fifoot	13		422		109*	 1 1	35.16
J. N. Fletcher	10		265		67	 2	33.12
H. R. Messum			177		63	 . 1	29.50
G. W. B. Wileman			188		42	 2	26.85
E. A. Rebsch	13		274		59*	 1	22.83
E. A. Sutton			55		31	 2	18.33
S. Batchelor			149		39	 1	16.55
L. D. Savery	8		67		20	 1	9.57
G. Thompson	6		47		17	 1	9.40
E. A. Leak	5	*	35 Signifies n	ot o	18* ut.	 1	8.75

BERKHAMSTED SCHOOL BOWLING.

	Overs		Maide	ns	Runs	Wkts	Average
E. L. Fifoot	60.4	23.	5	2	215	 20	 10.75
E. A. Sutton	198		43		513	 35	 14.6
S. Batchelor	95.9		16		330	 22	 15.
J. H. Lang	4	3	1		15	 1	 15.
G. W. B. Wileman	173.6		26		626	 34	 18.4
H. R. Messum	3		9		20	 0	 -10-7
E. A. Leate	3		0		8	 0	
R. L. Knott	3		1		20	 0	 _

BRADFIELD COLLEGE BATTING.

					Most in an	Times	
	Innings		Runs		innings	not out	Average
E. L. Ingpen	9 .		287		100*	 1	35.87
C. H. March			164	1	93	 1	27.33
E. E. Calthrop	10 .		245		91	 0	24.50
A. C. N. Spicer			211		50	 1	23.44
R. S. Lindsell	7 .		147		50	 0	21.00
T. S. Rake	7 .		111		36	 1	18.50
R. E. L. Wingate			140	1	28	 1	17.50
P. H. H. Gray			30		18*	 3	15.00
G. B. Walker			126		55	 0	14.00
A. E. P. Sloman	10 .		129		47	 0	12.90
H. E. Dixon	3 .		37		16	 0	12.33
		* Si	gnifies	not o	out.		

BRADFIELD COLLEGE BOWLING.

	Runs	Wicke	ets	Average
G. B. Walker	122	 10	88	12.20
R. S. Lindsell	98	 6	121.	16.33
A. C. N. Spicer	482	 26		18.53
E. E. Calthrop	372	 19		19.57
P. H. H. Gray	266	 9	181.	29.55

Public	School	Averages.
I WOOD	DUILUU	Liver uyes.

BRIGHTON COLLEGE BATTING.

			A	Most in an		Times	
strength the jest In	nnings	Runs		innings	1	not out	Average
M. H. Clarke	12	299		88		0	 24.91
R. W. Dower	12	213		73*		2	 21.30
A. I. Sheringham	17	361		71		0	 21.23
W. M. Malleson	16	312		62		1	 20.80
	16	152		40*		1	 10.13
V. Waterfall	16	130		36*		2	 9.28
K. A. R. Attree	6	35		15		2	 8.75
W. E. I. Read	13	77		29		2	 7.00
	16	94		19		1	 6.26
E. L. Turner	14	59		27		3	 5.36
E. C. Baker	14	27		12*		5	 3.00
		* Signifies 1	not o	out.			

BRIGHTON COLLEGE BOWLING.

	Overs		Maide	ns	Runs	Wickets	Average
W. M. Malleson	25.3	944	4	DIRB	91	 8	 11.37
E. L. Turner	240.5		33		725	 56	 12.94
R. C. S. Johnstone.	77		8	6.	305	 20	 15.25
M. H. Clarke	61		9		229	 14	 16.85
A. I. Sheringham .	7		1		55	 3	 18.33
W. E. I. Read	58		4		272	 13	 20.92
E. C. Baker	160.2		23		543	 24	 22.62

CHARTERHOUSE SCHOOL BATTING.

				M	lost in an		Times	
	nings		Runs		innings		not out	Average
	13		509		124		1	42.41
	13		417		102	ni.	0	32.07
	12		259		78*		2	25.90
	9		100		55		5	25.00
	13		238		54		2	21.63
	11		231		63		0	21.00
D. Lumsden	7		137		73		0	19.57
R. M. Weeks	6		117		43		0	19.50
C. O. H. Bury	11		157		48		0	14.27
	13		152		37		2	13.81
	10		93		29		0	9.30
H. B. Emley	10		65		37		0	6.50
	*	Sign	ifies not	out.				

CHARTERHOUSE SCHOOL BOWLING.

BEDSSM	Overs	Maider	ns	Runs		Wickets	Average
H. N. Atkinson	53.5	 7	1	213		13	 16.38
H. W. Dickinson	124.1	 24		409	ashn	24	 17.04
H. B. Emley	222.3	 38		803	NOS.	43	18.67
G. C. Dowling	142.2	 26	8	543	all Fire	21	 25.85
R. W. Sparrow	121	 17		440	W.	14	 31.42

CHELTENHAM COLLEGE BATTING.

				I	Iost in a	a	Times		
pessovA had ton	Innin	gs	Runs		innings		not out		Average
W. V. D. Dickinson	. 17	101	546		119	· I.	3		39.00
G. D. Wood	. 2	TOLL.	36		20	1	1		36.00
J. G. Reid	. 14		297		43*		5		33.00
H. W. Brown	. 15		327	300.	90*	ar	3		27.25
D. O. Light	. 16		357	TRI.	88	H	1	115	23.80
E. Mather	. 14		263	025	57		1		20.23
J. C. Wynne-Edward	s 15		275	T	68		1	1017	
O. D. P. Paget-Cooke	11	107.	173	2001	63	1	0	41	15.72
E. L. Armitage	. 16	18.L	201	37	39		3		15.46
G. McL. Paterson	. 15	75.1.	178	100	39		0	nos	11.86
H. C. Onslow	. 11	375	86	BIL			0		
			gnifies	not o					1000

CHELTENHAM COLLEGE BOWLING.

riii	Overs		Maide	ns	Runs	1	Wickets	Average
W. V. D. Dickinson	203	30.0	32	MINIS!	637		40	 15.92
H. W. Brown	119.2		21		356	4.000	22	 16.18
J. G. Reid	178.2		28		642	0.10	32	20.06
H. C. Onslow	31		8	634	103		5	 20.60
G. D. Wood	44	-	4		158		7	 22.57
J. C. Wynne-Edward	ds 39	600	1		182	FIGUR	8	 22.75
G. McL. Paterson .	7		2		32		1	 32.00

CLIFTON COLLEGE BATTING.

				N	lost in an	Times		
spartov A two fost I	nning	gs	Runs		innings	not ou	t	Average
W. M. Brownlee	15	UGI	330		63	 1		23.57
R. D. Crew			198	1	46	 0		19.80
C. R. Cleghorn		1.0	289		56	 0		18.06
D. H. E. Whitehead .		1.	242	09.	42	 2		17.28
O. M. Tweedy	13	112 "	168		30*	 3		16.80
R. V. Cullinan	15	00	244		62	 0		16.26
P. J. Richardson	15	18.	181		49*	 3		15.08
L. Thorp	14	50	209	00.	73	 0		14.92
E. L. G. N. Grell	10	400	91		34	 1		10.11
E. C. Ball	13		60	70.	21	 0		4.61
F. W. B. Wilson	3		2	174	2	 1		1.00
		* Si	gnifies 1	not o	ut.			

CLIFTON COLLEGE BOWLING.

	Overs		Maide	ns	Runs	E W	Wickets	Average
P. J. Richardson	66.1	2	7		208	11.57	20	 10.40
F. W. B. Wilson	26		7		66		5	 13.20
E. C. Ball	215.5	1.00	35	3.12	748	. 47	43	 17.39
T. H. E. Whitehead	55		3		261		15	 17.40
W. M. Brownlee	240		32		876		49	 17.87

Public School Average	eranes.	
-----------------------	---------	--

DULWICH COLLEGE BATTING.

	1	Times		
Innings	Runs	innings	not out	Average
H. R. C. Meade 14	540	101	1	41.53
T. T. Waddington 15	487	116	0	32.46
C. M. Keddie 14	255	31	1	19.61
C. W. Lamb 15	266		1	19.00
E. J. Waddington 10	167		1	18.55
A. C. Green 14	240		1	
A. P. Thomson 5	73		1 4.50	
J. C. Firth 13	185	59*		16.81
A. M. Whitehead 10	76	48		
L. B. Gasson 8	103		1	
E. C. Coleman 11	118		2	
	ignifies not o			10.11

DULWICH COLLEGE BOWLING.

1729-St. Mostleen da	Overs		Maide	ens C	Runs		Wickets	Average
H. R. C. Meade	203.1		27		652	9.0	48	 13.58
C. M. Keddie	84.5	0.3.	18		332		22	 15.09
L. B. Gasson	130.2	1919.1	23	V	471		29	 16.24
J. C. Firth	25		4		132		6	22.00
T. T. Waddington	100.4		10		485		17	 28.52

EASTBOURNE COLLEGE BATTING.

				M	lost in ai	1	Times	
. une son I		gs	Runs		innings		not out	Average
M. E. Coxhead			649		150	61.	1	38.17
E. M. Dennys	16		391	80.	92	01	3	30.07
R. G. Tudor	18		428		87*	01.	3	28.53
R. E. Cranfield	18	9.	480	210	81	01.		26.66
L. E. Dennys	12	*0.2	146	881	34	81.	4	18.25
C. F. G. Schneider	18	9.9	323	21.7	69	ar.		17.94
N. H. Cox	5	901	51	155-	18	11:-		
H. A. Maynard	14		195	go.	42			16.25
E. H. Muir Smith			126	10.	28*	01		14.00
E. B. Steele	10	19	97	05-	18	EI.	- ''	
N. Maxwell			174		32	2	0	12.42
		* Si	gnifies	not o				12.12

EASTBOURNE COLLEGE BOWLING.

	Overs		Maide	ns	Runs	Y	Vickets	3	Average
M. E. Coxhead	258.5		23	. 2	912	-	55	10.17	16.72
H. A. Maynard	179		21		651	0.019	31		21.00
E. H. Muir Smith .	114		12		402		16	10.00	25.12
L. E. Dennys	116.5	2.8	6	.98	606	0.011	20		30.30

EDINBURGH ACADEMY BATTING.

				N	lost in an	Times		
	Innings		Runs		innings	not out		Average
E. D. Anderson	. 17 .		372		73*	 2 .		24.80
M. A. Dumat	. 17 .		385		81*	 1 .		24.06
R. F. Simson	. 16 .		283		1.01*	 2 .		20.20
J. R. Milligan	. 16 .		235		61	 1 .		15.66
G. B. Crole	. 14 .		206		41	 0 .	100	14.71
W. B. Gordon	. 15 .		200		53	 0 .		13.33
I. Galletly	. 16 .		180		32*	 2 .		12.85
E. P. Combe	. 16 .		138		37	 5 .		12.54
G. W. Wallace	. 15 .		188		65	 0 .		12.53
J. Irving	. 7 .		50		25*	 3 .		12.50
T. Adamson	. 11 .		110		33	 1 .		11.00
W. K. White	. 6 .		50		15	 1 .		10.00
		*Si	gnifies r	ot o	ut.			

EDINBURGH ACADEMY BOWLING.

	Overs		Maiden	S	Runs	V	Vickets		Average
W. B. Gordon		301	23	4	472	.00	38	10.	12.42
G. W. Wallace			30		644	WILL	49	1	13.14
J. R. Milligan			20		468		31		15.09
W. K. White					148		7		21.14
J. Irving	31		3		121		4		30.25

ELSTOW SCHOOL BATTING.

				M	ost in an		Time	5	
	Innir	ngs	Runs		innings	nnings not out			Average
W. N. Scholes	13	60.	381		90*		2		34.63
D. M. Grant	9	01	143		60		1		17.87
R. V. Wheatley	12	F28	134		68		3		14.88
H. S. Adams			112		30		1		14.00
E. H. Saffery	13	1	172		27		0	110.	13.23
R. V. Prendergast			169		36		1	0.70	13.00
R. O. Wever	12		138		37		0		11.50
A. H. Haylett	10		66		26		3		9.42
H. R. Rennie	9		78		25		0		8.66
D. E. Southwell	9		61		27		1		7.62
		* Si	ignifies	not or	at.				

ELSTOW SCHOOL BOWLING.

	Overs		Maide	ns	Runs		Wickets	Average
W. N. Scholes	52	201.	4	1.2.	160	2	12	 13.33
H. R. Rennie	120.3		21	Q.	370		18	 20.55
A. H. Haylett	207	S	28		629		30	 20.96
R. V. Prendergast	152.3	84.	23		462		19	 24.31

Public	School	Averages.
1 00000	DUILUU	21 oci wy co

EPSOM COLLEGE BATTING.

			N	lost in an	Times	3	
	Innings	Runs		innings	not or	it	Average
J. R. Macphail	14 .	293		124*	 3	24.5	26.63
G. P. Starley	14 .	265		71	 1	10.00	20.38
E. H. Walker		280		64	 0		20.00
D. W. Pailthorpe	12 .	193		56	 0		16.08
J. S. Munro	13 .	162	12	25	 1		13.50
F. G. V. Beard		139	19	31*	 2	oshro	12.63
R. M. Hardfield-Jones		85		57*	 1		12.14
D. J. Evans		108	1	22	 1		9.81
R. F. Sturridge	10 .	42		17*	 2	4	5.25
D. G. Evans		41		15*	 2		
C. E. Procter	8 .	18		9	 3		3.60

EPSOM COLLEGE BOWLING.

	Overs	Maide	ns	Runs	7	Vickets	3	Average
D. J. Evans		 56		476	1	41	W	11.60
E. H. Walker	47.1	 0		269		17		15.82
D. W. Pailthorpe .	84	 13		265	19.00	15		17.66
G. P. Starley	89.5	 11		363		17	no.bro	21.35
C. E. Procter	118.2	 29	04.	438	90.	20	or. La	21.90

ETON COLLEGE BATTING.

I	nnin	gs	Runs		Most in a		Times	Average
F. W. Gull	5		94		67	M.A.	1	 23.50
G. H. Cartwright	11	18.63	284	HOL	102*		2	 31.55
R. St. L. Fowler	11		279		88		2	 31.00
R. L. Benson	11		256		53*		1	 25.60
G. W. Cattley	9	nin.	219	19.	93	or.T.	0	 24.33
Hon. A. Windsor-Clive	7		193	86	105	T	0	 27.57
Hon. L. H. Tennyson	10	00	228		76		0	 22.80
R. H. Twining	12	×	214		62*	1	1	 19.45
W. A. Worsley	10	0	197	1	48		1	 21.88
E. W. S. Foljambe	10	18.	151		71		0	 15.10
R. O. Kenyon-Slaney	5	88.	40	101	15*		3	 20.00
		*	Signifies	not o	ut.			

ETON COLLEGE BOWLING.

E. W. S. Foljambe.	Overs 52		Maide:	ns 	Runs 137	V	Vickets 9		Average 15.22	
Windsor-Clive R. O. Kenyon-	40	·	4)].(:)	158	078	7	(,,	22.57	
Slaney G. H. Cartwright	119 192.2	ena I	8 26	H4.16	429 663	F1070	19 32		22.57 20.71	
R. St. L. Fowler Hon. L. H.Tennyson	147		13		571 302	8,09.1	21	••	27.19	
F. W. Gull	13		1		58	20.	0		33.55	

FELSTED SCHOOL BATTING.

				Most in an			Times	
I not out . Average	nning	S	Runs		innings		not out	Average
J. E. Jewell	14	100 %	578		132		2	48.16
C. deC. Hamilton	13	P 60	306		74		3	30.60
L. S. M. Page	15	1.79	387		86		2	29.76
A. H. Burnann	8		171		58*	٠	2	28.50
E. W. Morris	13		304		50		0	23.38
L. G. Blackmore	7	-01	79		55		3	19.75
R. H. Heath	11		215		63		0	19.55
K. M. B. Cross	8	5.	114		33*		2	19.00
D. Macmillan	10	Sells.	140		64*		2	17.37
G. Trotter	7	100	65		35		0	9.38
R. V. Routledge	6		45		16*		1	9.00
G. C. Payne	7		13		6		2	2.60
		* 8	lignifies	not c	out.			

FELSTED SCHOOL BOWLING.

	Overs	Maide	ns	Runs	Wickets	Average
W. E. Blackmore .	84	 7		322	 18	 17.88
R. V. Routledge	195.3	 33		680	 33	 20.61
J. E. Jewell	75.2	 7		317	 15	 21.13
E. W. Morris	16	 2		70	 3	 23.33
D. Macmillan	68	 5		270	 10	 27.00
G. C. Payne		 14		586	 19	 30.84
G. Trotter	19	 3		76	 2	 38.00
L. S. M. Page	7	 0		43	 1	 43.00

FOREST SCHOOL BATTING.

				M	lost in an	Times.	
	Innings		Runs		innings	not out	Average
C. D. S. M. Arrindell	16		317		76	 1	 21.13
T. A. M. Gardiner	. 17		319		117*	 1	 19.93
E. Morris	. 13		251		98	 0	 19.30
F. W. H. Nicholas .	. 11		74		25	 5	 12.33
E. Spencer	. 14		148		60	 1	 11.38
C. Miller	. 14		137		29	 1	 10.53
S. H. Killick	. 12		113		25	 1	 10.27
J. T. Cole	. 15		133		48	 1	 9.50
S. R. Martyn	. 13		101		22	 2	 9.18
L. F. Copeland	. 15		118		30	 0	 7.86
F. R. Campbell	. 14		32		12	 8	 5.33
R. E. F. Shaw	. 10		51		17	 0	 5.10
		*	Signifies:	not o	out.		

FOREST SCHOOL BOWLING.

	Overs	Ma	idens	Runs	1	Vickets	Average	
S. R. Martyn	164.1		23	 581		40	 14.52	
L. F. Copeland	220		40	 823		44	 18.70	
S. H. Killick	63		8	 306		12	 25.50	
E. Spencer	60		7	 323		11	 29.36	
C. Miller	103		8	 585		18	 32.50	

Public	School	Averages.
1 WOULD	K) UIUUUU	LI UCI WYCO.

HAILEYBURY COLLEGE BATTING.

				M	ost in ar	n	Times	3	
	Inning	gs	Runs		innings	3	not ou	it	Average
H. J. C. Hammond		9.0	639		105	4.5.	1	11	39.93
B. Pawle	11		169	300	53*	21.	5	1111	28.16
J. M. De Freitas	13		365	5.64	67	ar.	0		28.07
W. Cooper	8	* 7.	174		68		1		010=
E. M. Dawson	13	0.7	271	Lan	58	ž.	1		
R. S. Stafford	16		307		49*	7	2		21 02
F. L. Davies	16		242	819	53	TT.	1		
G. L. Waller	17	9.00	269	111	43		ō		
W. P. Geen	17	W. 7-19	295	03.5	37*	07	3		14.64
J. King	9		93	201	29	4	2		13.28
	15	40.0	131		20*	4.	2	-	10.07
16.3	-	* Si	gnifies	not or		7		8	10.01

HAILEYBURY COLLEGE BOWLING.

	Overs		Maider	ns	Runs	1	Vickets		Average
G. L. Waller		4.	15		749	8399	44		17.02
B. Pawle			38		500	84	18	oms	27.77
J. M. De Freitas	117.4		23	65	402	8.00	14	re list	28.71
H, J. C. Hammond			19		474	400	15	3-3	31.60
J. King	143		21		569	35	15	. 85	37.93
E. M. Dawson	61		7		230	. 00	6	13.5	38.33

HARROW SCHOOL BATTING.

				1	lost in a	1	Times		
I	nnings		Runs		innings		not ou	t	Average
G. E. V. Crutchley	12		467		104*		3		51.88
Hon. R. Anson	11		257		79*		2		28.55
T. E. Lawson-Smith.	13		232		79*		2		21.09
A. H. Lang	13		243		79		1		20.25
F. M. Carlisle	9		97	916	40*		4	100	19.40
G. A. Laverton	9		128	144	43		2		18.28
W. L. Everard	12		188		50		ī		17.09
G. F. Earle	9		139		35	1:	0	• •	15.44
V. Routledge	7		99	101	38		0		14.14
S. St. M. Delius	11	1.5	141		30		1		14.10
A. V. Makant	8	1.	26		12	1.	2		4.33
zz. v. namani		* S	ignifies	not or		B.	4		4.00

HARROW SCHOOL BOWLING.

M. W. S. Fridances,	Overs	Maidens	Runs		Wicket	S	Average
G. A. Laverton	73.3	 10	 199		15		13.26
G. F. Earle	111.3	 17	 368		24		15.33
Hon. R. Anson	135.5	 33	 327	are dy	20		16,35
G. E. V. Crutchley.	117	 30	 305		16		19.06
F. M. Carlisle	86	 7	 291		13	1	22.38
S. St. M. Delius	60		 225		10	1	22.50
A. V. Makant	15	 2	43		1	3	43.00
T. E. Lawson-Smith	4	 0	21		0	* * * * *	

HURSTPIERPOINT COLLEGE BATTING.

				M	lost in an	Times	
	Inning	s	Runs		innings	not out	
C. M. Van Buuren	14	10.	242	100	50	 1	18.61
H. A. Wilson	12	84.	196	900.	50*	 1	17.81
B. Whitmore-Searle .	16	80.	180	610.	37*	 4	15.00
E. W. Gilbert	17	14.	243		53	 0	14.29
W. W. Dennis	13	12.	133	891.	40	 0	10.23
R. B. Broad	16		148	089.	34	 0	9.25
C. D. Martyn	15	84.	117	202.	36*	 2	9.00
F. N. Blackall	12	G.	88		31	 2	8.80
A. Gould	17	00.	116	64.	35	 1	7.25
H. W. Yockney	15	12.	73	80	17	 0	4.86
D. Neave	15	8	40	9	11*	 1	2.85
		* S	ignifies	not o	ut.		

HURSTPIERPOINT COLLEGE BOWLING.

	Overs	Maidens		Runs		Wicke	ts	Average	
W. W. Dennis	245.4		40		730		48		15.20
C. D. Martyn	112		11		437		21		20.80
H. W. Yockney	38.1	9.1	1		193		9		21.44
D. F. Neave	199		41		702		27		26.00
F. N. Blackall	43	100	7		145		6		24.16
C. M. Van Buuren	6		0		29		1		29.00
R. B. Broad	12		0		88		3		29.33
T. R. Lewis	29	010	2		116		2		58.00
E. W. Gilbert	36.2		1		183		3		61.00

KING'S SCHOOL, CANTERBURY, BATTING.

				1	Most in a	n	Times	3		
	Inning	gs	Runs		innings		not or	ıt	Average	
H. Gardner	. 22		1166		202	1	3		61.47	
R. E. Martin	. 21	2000	737	11.8	200	81	3		40.94	
A. C. Fluke	20		686		149*		3		38.23	
C. J. N. Adams	17	117	478		78		3		34.14	
G. F. Howell	18		468	57.	69	ē	1		27.52	
C. S. Merrett	15		210	00.	47		2		16.15	
H. Parsons	18	0.0	232		58		3		15.46	
C. F. Freeborn	15		197		46	77.	2		15.15	
D. V. Dunlop	14		102	88.	30		5		11.33	
E. P. Collings	. 12		106		32		2		10.60	
L. G. L. Denne	11	- 22	69	101	30	2	4		9.85	

KING'S SCHOOL, CANTERBURY, BOWLING.

The second second is	Overs	M	aiden	IS	Runs	Wicket	ts	Average
D. V. Dunlop	180	· · · · · · · ·	26	ensh!	859	 51		16.84
E. P. Collings	212.4		40		746	 37		20.16
L. G. L. Denne	221.2		27		782	 38		20.57
C. S. Merrett	244		23	82	901	 27		33.37
A. C. Fluke	12.1		0		99	 3		33.00

Public School Averages.

LANCING COLLEGE BATTING.

	nning	gs.	Runs	N	fost in an innings		Times		Average
T. A. Wilkinson	13		394		104		0		30.30
E. R. Hopewell	13		309		63*		2		28.09
S. Dow	13		275		63		0		21.16
G. L. Selby	12		187		51*		3		20.77
M. C. Saunders	12		122		31*		6		20.33
E. G. S. Leadam	13		260		57		Õ		20.00
C. S. W. Marcon	12		205		53		ĭ		18.63
R. O. Clark	10		93		25*		$\hat{\bar{3}}$		13.28
A. O. Miles	13		120		59		ŏ		9.23
R. A. Woodard	12		105		21		Õ		8.75
R. C. Birkett	2		9		8		ő		4.50
C. F. Gordon	9		26		10		3		4.33
			gnifies n	ot or		• •	0	• •	4.00

LANCING COLLEGE BOWLING.

	Overs	Maider	ıs	Runs		Wickets		Average
R. C. Birkett	7.4	 3		15		3		5.00
C. S. W. Marcon	4.3	 0		23	- 5.			7.66
M. C. Saunders	54	 11		167		14		11.92
S. Dow	6	 1		14		1		14.00
C. F. Gordon		 11		260		$1\overline{5}$		17.33
E. G. S. Leadam .		 44		573		32		17.90
G. L. Selby	141	 22		427		23		18.56
R. O. Clark	120.5	 20		491		$\frac{26}{26}$	• •	18.87
		 		202				10.01

LEYS SCHOOL, CAMBRIDGE, BATTING.

	Inning	gs	Runs	N	fost in an innings	n	Times	Average
N. J. Holloway	18		634		220*		1	 37.29
C. Pinkham	18		563		108		0	 31.27
R. W. Adam	13		269		120		0	 20.69
H. M. C. Hosegood	5		70		32		1	 17.50
E. A. Salter	6		103		43		0	 17.16
R. H. Williams	17		222		39		3	 15.85
J. M. Williamson	17		201		37		1	 12.56
O. C. Hawkins	11		88		22		3	 11.00
S. B. Quibell	14		86		35		6	 10.75
A. M. Holman	13		104		46		2	 9.45
C. W. Dyer	5		32		18		0	 6.40
		* S	ignifies :	not o	ut.			

LEYS SCHOOL, CAMBRIDGE, BOWLING.

		,			,					
	Overs		Maiden	S	Runs		Wickets		Average	
O. C. Hawkins			21		441		32		13.78	
N. J. Holloway			40		769		47		16.36	
S. B. Quibell	319		26		1256		66		19.03	
C. Pinkham	59		1		238		9		26.44	

LORETTO SCHOOL BATTING.

					Most in a	an	Times	;	
	nning	S	Runs		innings		not ou	\mathbf{t}	Average
Dempster	19		566		92		2		33.29
Gillespie	20		556		78		1		29.26
Hunting	16		302		86*		4		25.16
Guthrie	16		247		52		3		19.00
Clay	19		286		39		1		15.88
Campbell	19		251		76*		ĩ		13.94
Docker	17		212		42		ō		12.47
Gillespie mi	16		149		29		4		12.41
Grant, senr	15		168		47		Ô	• •	11.20
Mostyn	14		145		31		1		11.15
	14		50		13		7		7.14
•		* 5	Signifles	not (٠.			1117

LORETTO SCHOOL BOWLING.

	Overs	Maide	ns	Runs	Wickets	Average
Dempster	267.2	 54		693	 70	 9.90
Mostyn	44.3	 3		134	 11	 12.18
Clay		 39		601	 46	 13.06
Gillespie mi		 17		295	 16	 18.43
Campbell, junr	74.4	 6		230	 11	 20.90

MALVERN COLLEGE BATTING.

	nning	s	Runs]	Most in a innings	Times not ou	Average
H. E. W. Prest	13		596		174*	 1	 49.66
M. K. Foster	13		480		115	 $\overline{2}$	 43.63
H. R. Kirby	12		298		62	 0	 24.83
O. Hughes	12		259		86*	 1	 23.54
F. N. Tuff	12		216		34*	 1	 19.63
R. C. Burton	10		98		51	 2	 12.25
G. D. Pidgeon	9		95		40	 ĩ	 11.88
H. S. Kevill-Davies .	12		134		27	 Ô	 11.16
C. K. Anderson	10		57		$\frac{2}{2}$	 4	 9.50
P. D. Harding	11		67		33	2	 7.44
R. G. Thompson .:	8		52		12	 0	 6.50
Poor III.	9	* S	ignifies i	not or		 U	 0.50

MALVERN COLLEGE BOWLING.

	Overs	Maider	ns	Runs	Wickets	Average
F. N. Tuff	169.3	 26		568	 31	18.32
R. C. Burton		 10		395	 19	 20.78
P. D. Harding		 7		340	 15	 22.66
C. K. Anderson		 32		528	 22	 24.00
M. K. Foster	52.1	 2		196	 7	 28.00

MARLBOROUGH COLLEGE BATTING.

					Most in a	n	Time	S	
	Inning	ts.	Runs		innings		not or	it	Average
R. O. Lagden	13		578		149*		2		52.5
A. D. Womersley	14		470		121		1		36.1
J. B. Brooks	14		373		104		3		33.9
E. A. Shaw	14		369		98		0		26.3
H. S. Scott	14		284		38		3		24.0
G. S. Leventhorpe	14	35	292		53		0		20.8
A. C. Wolfson	10		108		30		3		15.4
G. H. Atkinson	6		70		24		1		14.0
R. G. W. Knight	7		96		27		0		13.7
C. L. Norman	13	13	99		21		3		9.9
L. D. Womersley	6	25.	58		25*		1		9.6
B OCHERO		* S	ignifies 1	ot o	ut.				

MARLBOROUGH COLLEGE BOWLING.

	Overs		Maide	ns	Runs		Wickets		Average
A. C. Wolfson	217.3	0.0.5	39	-	687		51		13.4
L. D. Womersley .	27.4	200	2		154	2.7.9	10		15.4
C. L. Norman	47	1	5	2.	179	8.85	8		22.3
R. G. W. Knight	160.5	1.10	21	.00	607	8 2-13	27		22.4
R. O. Lagden	178		24		650	C. S	27		24.1
A. D. Womersley .	15		0		78		2	0.0.	39.0

MERCHANT TAYLORS' SCHOOL BATTING.

Time I	nning	zs	Runs		ost in a				Average
K. M. Robathan	11	in the	292		86*	dev.	2		32.44
J. S. Ryan	12	- P	245		48*	EL	1		22.27
A. J. H. Roe	11	6.1.5	190	09.2.	48		2		21.11
L. F. Shooling	9	27.	152	800.	94*	31	1		19.00
F. W. R. Greenhill .	12	40.2	222	P	45	91	1		18.50
C. E. Spencer	12	*1.0	163	818.	27	96.	0		13.58
W. H. Pridden	4	1.0.	40	80	25*	0	1		13.33
R. H. A. Newsome	8	8.	59		16		. 1		8.42
R. W. T. Cox	9	1.0.	45		13*	21	2	-0	6.42
A. F. Botham	7		10	7	3	DI	()	10.759	1.42
C. H. Wakeley	3		1	Th.	1	1	0	0.7.52	0.33
		* Si	gnifies	not o	ut.				

MERCHANT TAYLORS' SCHOOL BOWLING.

	Overs	Maiden	ıs	Runs	1	Vickets	5	Average
J. S. Ryan	138.2	 22		518		20		25.90
F. W. R. Greenhill.	43.0	 8		183		7		26.14
K. M. Robathan	146.0	 17		477		16		29.81
A. J. H. Roe	52.1	 1		249	3. 75	8		31.12
C. E. Spencer	60.3	 10		293		8		36.66
R. H. A. Newsome	26.2	 2		134		2		67.00

MERCHISTON SCHOOL BATTING.

					M	lost in a	n	Times	3	
	tuo ton I	nnings		Runs	9081	inning	rs	not or	it	Average
J. F. Myles		16	101 -	358	18.3	60		1	misley	
R. Fraser		18		369	89.	75	·	2		23.06
A. Fraser				343	4.6	57*	11.	2		
A. G. Camero	on	18		370	De.	92	DI.	1	100.00	21.76
J. Lawson .				194	194.5.	34*	81	5	Marie E	16.17
R. M. Lindsa	y	18		285		54	31.	0	170	15.73
G. Roberts .		7		90	70.0	46	EL.	0	2000	12.86
C. L. Marbur	g	14		147	-601	28		2		12.25
J. Cumming;			4.	80		15	8	2		8.00
G. D. M'Lella	an	10		47	30.	22	2.	2		5.88
R. W. B. Du	nlop	12	4.1.	57	86.	11		1	1	5.18
			* S	ignifie	s not	out.				

MERCHISTON SCHOOL BOWLING.

	Overs	Maidens		Runs	V	Vickets		Average	
G. D. M'Lellan	123.3	 15		337		33	J	10.21	
R. Fraser		 20		421	1	37		11.38	
A. Fraser:	276.1	 38		821		68		12.07	
A. G. Cameron	115	 - 11	34	422		15		28.13	

MILL HILL SCHOOL BATTING.

			-	M	ost in an		Times		
	Inning	S	Runs		innings		not ou	ıt	Average
A. G. Knott			324		78*		_ 3		32.40
A. H. Bull	7		160	h.J	75*		2		32.00
A. F. Rook			320		64		0		21.33
E. Higham	14		254		44		1		19.53
T. W. Lloyd	14		232	3131	41		2		19.33
T. D. Morgan	13		163		25	1.	4	9988	18.11
M. D. Morgan	15	23.0	270		65		0	a just	18.00
G. E. Spicer	15		205	100	64*		2	1. 0	15.76
A. N. Scott	11		122	9211	50*		- 3	Milia.	15.22
N. E. P. Harris	13		114	311	26	1	3	230	11.40
R. W. Atchley		411	100	DS.I	30	1.	0	. Vide	11.11
			ignifies 1	not or				Digiu.	11.11

MILL HILL SCHOOL BOWLING.

5)	Overs		Maide	ns	Runs	7	Vickets		Average
N. E. P. Harris			40		523	44.	48		10.89
A. N. Scott			15	mobile	230	/ 1000	19		12.10
T. W. Lloyd	75.3	101	8		301	100	22	4	13.68
T. D. Morgan	148		33		408	77.	27		15.11
A. G. Knott		000	4	27.52	40	0.47	2		20.00
M. D. Morgan			1	9.08	73		2	0010	36.50
A. H. Bull			1		163	17.0	4		40.75
E. Higham	41	4.	2		198	3.78	4	9.10	49.50

Public	School	Averages.
--------	--------	-----------

OAKHAM SCHOOL BATTING.

				1	Most in a	n	Times	5	
remarks Inches I	nning	S	Runs	au.a	inning	gs	not or	ıt	Average
E. F. Pickering-Clarke	15	0.8	549	3.38	100*	as.	4		49.90
R. A. Waters	9		188	90.	53	A	3		31.33
J. H. Jenwood	13	-	333	848	65	7	1		27.75
R. Blatherwick	10	3.0	192	320	76*	A.	2	1	24.00
H. G. C. Ellwood	13	- 1.	239	101	63*	71.	3		23.90
H. V. Neilson	14	16.	292	68.5	58	31.	0		20.85
F. Underwood	12	10.	197	00.	51		2		19.70
C. C. Sills	9	181	103	51.1.	51		1		12.97
H. Batts	8	6.1	34	0	19		2		5.66
J. W. Kerwick	12	3.5	62	14.	34		0		5.87
E. G. Snaith	9		33	18.	17		2		4.71
G. W. Tanner	3		3		3		0		1.00
		*Sig	gnifles	not of	ut.				

OAKHAM SCHOOL BOWLING.

	Overs	Runs	V	Vickets	Average
G. W. Tanner	43.1	 133		12	 11.08
H. G. C. Ellwood .	50	 254		14	 14.81
J. H. Jenwood	27	 104		5	 20.80
J. W. Kerwick	118.3	 662		28	 23.64
E. F. Pickering-					
Clarke	228.4	 770		30	 25.66
R. Blatherwick	74.3	 309		11	 28.09
R. A. Waters	62	 246		6	 41.00
G. O. V. Williams .	21	 92		2	 46.00

OUNDLE SCHOOL BATTING.

				M	Most in a		Times		
W. S. S. Ortical	Inning	gs Runs			inning	not or	16	Average	
I. C. H. Master	10		173		47		0		17.30
A. B. Crawford	11		162		54		0		14.36
G. Drayson	10		105		39*		2		13.12
D. G. S. Smith	10		128		44		0		12.80
E. A. R. Gore-Brown	10		113		33		1		12.55
J. F. Ormsby	10		121		37		0		12.10
G. H. C. Augus	9		68		37*		2		9.71
O. Tindall	9		74		23		0		8.22
O. S. Duffus	4		23		13		0		5.75
		* 5	signifles :	not o	ut.				

OUNDLE SCHOOL BOWLING.

	vers		Maide	ns	Runs	Wickets	Average
G. Drayson	95		13		184	 18	 10.22
O. Tindall	73	400	12		136	 13	 10.46
C. N. Burton	72	0.1	23		200	 15	 13.33
E. A. R. Gore-Brown	147		30		494	 32	 15.43
A. B. Crawford	77		15		231	 11	 21.00
L. C. H. Master	27		8		70	 3	 23.33

POCKLINGTON SCHOOL BATTING.

Thorse Legita	Inning	s	Runs		Most in a innings		Times not out		Average
P. R. Wardroper	. 15		341		68*		1		24.36
A. H. Anson	. 15		316		109*		$\hat{2}$		24.31
H. H. Anson	16	*801	296		62*		0		21.14
J. H. Power	5	200	59		41*		ī		14.75
H. M. Savery	14		172		38		1		13.23
C. S. Sterling	15	5.0	195		47	8	0		13.00
R. G. Sterling	11		44	100	16		7	. 4	11.00
R. C. Grayburn	13		130		26		0		10.00
C. A. K. Peters	13	1	118		29	86.	0		
H. A. Barnes	16	20	126		49		0		9.08
C. Davies	7		34	UG2	8*	81.	1		7.88
			gnifles	not o		7	1	•	5.67

POCKLINGTON SCHOOL BOWLING.

A. H. Anson R. C. Grayburn H. H. Anson C. Davies	43 173.3	 Maidens 30 4 34 0	18	Runs 511 140 573 24	2.70s 5.13 4.131.4	Wicker 55 14 50 2	ts	Average 9.29 10.00 11.46	
	J	 U		24		2		12.00	

RADLEY COLLEGE BATTING.

Cont Sol			Most in an			Times		
I de la I	nnin	gs	Runs		innings		not out	Average
M. R. R. Vidal	13		330	805	132	1	0	25.38
T. Z. D. Babington	13	4.0	277	071	75		1	23.14
C. L. Bruton	13	109	271	478	63	3	0	20.84
N. St. J. G. D. Buxton	12	1.	228	ālr	58		0	19.00
K. M. Nelson	13	3.5	168	211	57*		1	
H. C. B. Sessions	6	119 1	41	Mer o	11*		9	14.00
H. A. Stuckey	13	287.0	166		28		0	13.66
R. E. Norman	12	27.9	113	10	37*		0	12.76
A. L. Hill	11	110	71	20	22		3	12.22
N. L. Ames	7		51				3	8.81
H. F. Willcocks	o		38		24		1	8.50
The state of the s	9	* Sig	nifles	not or	15 ut.		0	4.22

RADLEY COLLEGE BOWLING

				1	11 11	TIO.	
H. F. Willcocks	Overs	Maide	ns	Runs	7	Vickets	Average
		 57		680		48	 14.66
N. L. Ames	146.2	 32		433		29	 15.00
M. R. R. Vidal	59.4	 7		229		11	21.00
R. E. Norman	130	 32		343		15	23.00

Public School Averages.

REPTON SCHOOL BATTING.

					Most in a	n	Times	5	
SHERVA TO SOR]	Inning	S	Runs		innings		not or	ıt	Average
A. T. Sharp	12		548		172*	·	3	NGO SO	60.88
	15		609		150		2	000	46.84
R. Sale	14	.40	514		106*		2	00	42.83
D. FitzGibbon	11		154		29*		4	- 30	22.00
D. W. Ellis	8		127	STI	36		1		18.14
	12		141		36	0	4	- 110	17.62
J. L. S. Vidler	4		46		37*	4	1	Date:	15.33
C. E. Squire	-12		152		41		2		15.20
	13		176		54		1	STOLE !	14.66
A. E. Cardew	13		150		46	0.	0	390	11.53
W. B. Franklin	6		17		10		1		3.40
		* Sig	gnifies 1	not or	ut.				

REPTON SCHOOL BOWLING.

	vers	J	Iaidens	3	Runs	W	rickets		Average
W. T. Greswell	297.2		81	age, fil	714	E3876	59		12.10
H. S. Altham		1.3.0	7		181	8.78.	11		16.45
C. E. Squire			15		425		24		17.70
D. FitzGibbon			15		167	1.878	8	00	20.87
J. L. S. Vidler	160		37		456		19		24.00
R. Sale	121.5		27		486		145		34.71

ROSSALL SCHOOL BATTING.

			N	Iost in ai	1	Times	
one or		Runs		innings		not out	Average
II. W. Ling		208	0	52		1	26.00
P. T. Furneaux		179		64		1	25.57
F. L. L. F. Roupell	9	 130	17.0	39*		2	
	9	 115		24	91.	0	12.77
W. F. Parrington	10	 112	9	48		0	11.20
W. St. J. Pynn	4	 38				0	
	8	 52	0	17*	81.	2	8.66
H. J. Wratisaw	9	 51	11.	25*	91.	1	6.37
E. L. Squance	8	 37		24	11.	0	4.62
H. M. Wells	4	 9		6	T	2	4.50
G. B. Sleigh	5	 20		7)	0	4.00

* Signifies not out.

ROSSALL SCHOOL BOWLING.

SOME STATE OF THE STATE OF	Maidens			Runs						
G. B. Sleigh			35		340		34		10.00	
T. D. Dally	46		6		191		9		21,22	
H. J. Wratisaw	74		11		238		10		23.80	
E. L. Squance	131	7 220	21		432		13	Trans.	33.23	

RUGBY SCHOOL BATTING.

	nnin	gs	Runs	1	Most in an innings	Times not ou		Average
R. S. Rait-Kerr	15		419		66	3		34.92
R. Cunningham	20	20	618		83	0		30.90
R. W. Poulton	20		803		89	2		27.96
S. A. Miller-Hallett .	17		388		114*	 2		25.87
G. D. Forrester	20		423		91	 1		22.26
P. S. Fraser	11	00.	178		44	 1		17.80
H. S. Sharp	10		113		50*	2		14.12
N. H. H. Charles	16		176		41	 3		13.54
		* S	ignifies 1	ot o	ut.		UE .V	

RUGBY SCHOOL BOWLING.

BOWLING.	Overs	Maider	ns	Runs	Wickets	Average
R. Cunningham		 28		593	 32	 18.50
J. C. Symonds		 31		998	 39	 25.58
J. A. Cunningham	168.4	 18		658	 25	 26.32
N. H. H. Charles		 17		942	 29	 35.93
P. S. Fraser	22.1	 0		144	 4	 36.00

ST. EDWARD'S SCHOOL, OXFORD, BATTING.

Innin	σg	Runs		Most in a	1000	Times not ou		Average
R. G. Barrett 10	90				,	-	10	
		321		110		0		32.10
O. C. Blencowe 11		309		66		0		28.09
K. Harding 7		88		29*		3		22.00
G. H. Bickley 11		175		65*	W	3	100	21.87
J. P. Higgs 9		169		67		0		18.77
C. E. Cockey 10	3.8	185	10.	53	EL.	0		18.50
J. S. Douglas 11	17.	169	88	51	91.	0		15.36
J. R. Dashwood 7		86		44	1	1		14.33
C. E. Cleeve 8		70		29*		3		14.00
C. L. Bleaden 8		73		27*		2		12.16
A. G. Sherwell 8		75		27		0		9.37
	* S	ignifies 1	not o	ut.				

ST. EDWARD'S SCHOOL, OXFORD, BOWLING.

Tab Alexander	Overs	Runs	Wickets	Average
J. S. Douglas	165	 485	 34	 14.26
J. R. Dashwood		 175	 11	15.90
O. C. Blencowe	136	 531	 30	17.70
G. H. Bickley	77.1	 351	 19	 18.47

Public School Averages.

ST. JOHN'S SCHOOL, LEATHERHEAD, BATTING.

				1	Most in a	n	Times		
	Inning	gs	Runs		innings		not ou	t,	Average
J. G. K. Vallings	16	90. A	386		72*		4	1	32.17
R. Knight	16	50. B	397		78		1		26.47
G. P. Pavey	13	6. 5	167		42		2		15.18
H. C. James	15	14.	208	18	54		111	1	14.86
Ll. R. Evans	16	14.	209		40*		1		13.93
G. H. Lewis	11		94		50*		4	703	13.43
R. F. S. Parry	6		48		13		2	1479	12.00
J. V. Hitchcock	13	14 1	153		42	£	0		11.76
J. C. de V. Biss	15		165		28		1		11.07
W. H. Park	9		77		21		1		9.63
W. J. L. Rogerson	10		20		6*		2		2.50
		* S	ignifies	not o	ut.				

ST. JOHN'S SCHOOL, LEATHERHEAD, BOWLING.

	Overs	Runs	Wickets	Average
H. C. James	108.3	 370	 27	 13.70
R. Knight	213	 738	 50	 14.76
J. G. K. Vallings	172.1	 574	 35	 16.40
J. V. Hitchcock	154	 717	 31	 23.13

ST. PAUL'S SCHOOL BATTING.

\sim .DMITTAS $_{ m I}$	nnin	gs	Runs	M	lost in an innings		Times not out	Average
P. G. Fender	14		352		72		3	32.00
P. J. F. Buckley	16	01.01	296		96	0.37	3	22.76
J. P. Sargent	14	0	292		51		. (22.46
G. A. H. Farmer	16		291	130.	54		1	19.40
G. A. H. Ley	13	400.	153	8	44		ō	11.76
R. H. W. Hope	12	F6.0.	115	7.7.	34		1	10.45
R. T. Pollard	11		79	AT	29		3	9.87
A. E. Bolter	13		107	9.1	18*		2	9.71
E. W. Sharp	12	12.	69	n.I.	28*	1		8.62
R. G. Spicer			112	118	22		1	8.00
H. F. Cartmel-						•		0.00
Robinson	11		34		13		2	3.72
			nifies no	ot our			S Ilsw	

ST. PAUL'S SCHOOL BOWLING.

	Overs	Maide	ns	Runs	7	Vickets	3	Average
J. P. Sargent	253	 34		824		53		15.54
G. A. H. Farmer	190.5	 26		603	1230	34	7 (17.73
H. F. Cartmel-								
Robinson	132.1	 17		397		19		20.89
R. T. Pollard	20	 2		68		3	gott.	22.66
P. J. F. Buckley	23	 3		87		3	28()	29.00
P. G. Fender	66.4	 10		237		8	9141	29.62
E. W. Sharp	31	 3		113		8		37.66

SHERBORNE SCHOOL BATTING.

T. J. Cronshaw 12	gs	Runs	Most in an innings	Times not out	Average
A. B. Read 10	00.	231	69*	6	38.50
C. O'D. Carey 15		228	89	1	25.33
G. H. Shaw 14		348	59	1	24.85
J. R. Taylor		288	63	1	22.15
A. C. Master 11		277	61	0	19.78
E. G. T. Simey 10		206	50	0	18.72
		122	74*	2	15.25
G. C. W. Sweet 9		59	12	4	9.83
D. G. Smith 12		68	27	2	9.71
H. C. Terry 10	• •	108	29	0	9.00
11. 0. 1011y 10		42	1	1	4.66
	* S	ignifies not	out.		E. Cormu

SHERBORNE SCHOOL BOWLING.

T.D. m	Runs	W	ickets		Average
J. R. Tayler	352	MARK	29	ISV	12.13
E. G. T. Simey	333		18	-0.	18.50
H. C. Terry	673		35		19.22
D. G. Smith	524		20		26.20
G. C. W. Sweet	340		12		28 33

SHREWSBURY SCHOOL BATTING.

R. V. Bardsley R. C. Burton K. B. Thompson A. Delap J. L. Haselton J. H. Parry A. L. Dickinson D. Boumphrey K. C. Raikes C. Mountford O. Bornemann	. 14 . 12 . 3 . 14 . 9 . 14 . 9 . 12 . 12		Runs 529 456 340 41 193 124 201 98 147 122 19		Most in a innings 94 87 119 22 39* 52 43 40 56 30 11	Time not o 0 0 0 1 4 2 2 1 0 1 2		Average 40.69 32.57 28.33 20.50 19.30 17.71 16.75 12.25 12.25 11.09 4.75	
		* Si	ignifies r	ot or	ıt.		- 11	Taxas ()	

SHREWSBURY SCHOOL BOWLING.

R. V. Bardsley R. C. Burton	Overs 296.5 200.1	200	Maide 26 20	ns	Runs 944 684	 Wickets 53 31	 Average 17.80
K. C. Raikes C. Mountford D. Boumphrey	160.3 71 10	::	15 8 2		539 222 41	 24 7 2	 22.06 22.45 31.71 20.05

Public	School	Averages.
--------	--------	-----------

STONYHURST COLLEGE BATTING.

				1	Most in a	Times	3		
		gs	Run	S	innings		not or	it	Average
L. de Verteuil	16	908	324	It	68	21	1	4.60	21.6
C. E. Fox	16	99.	298	888.	56	01	1	1 1 100	19.86
J. B. Rowland	17	88	295	848	64	A	2	2956	19.66
J. P. Obregon	16	88.	278	288	52	H	0	V.	17.25
R. Campbell		14.	107	TTE.	29	M	3	200	11.88
R. F. Grech	15	94.	159	009.	32	11	0	1.0	10.6
J. Holliday	13	***	107		33*	OE	1	90.00	8.91
R. Chichester-									
Constable	12		98	80	23		0	39,748	8.16
F. Kelly	5	94	39	801.	25	21	0		7.8
H. Walsh	14		84	24	25	01	1		6.48
E. Cormac-Walshe	16		52		17*		4		4.33
			* Sign	ifies r	ot out.				

STONYHURST COLLEGE BOWLING.

	Overs	Maiden	S	Runs	Wicket	s	Average
L. de Verteuil	65.1	 9		195	 19		10.26
R. Chichester-							
Constable		 22		422	 35		12.05
R. F. Grech		 11	N	171	 14		12.21
J. B. Rowland		 21		544	 37		14.70
C. E. Fox		 3		144	 8	.0	18.00
E. Cormac-Walshe.	115	 15		362	 19	.5	19.04

TONBRIDGE SCHOOL BATTING.

				1	lost in an	Times		
I	nning	gs	Runs		innings	not ou	t	Average
H. M. Bannister	12	0	649		132*	 1		59.00
F. H. Knott	15		456		84*	 2		35.07
C. E. Knight	13		352		145	 2		32.00
H. G. Pegg	10		126		35*	 5		25.20
L. Marzetti	13		229		62	 0		17.61
C. H. E. Bilton	14		216		63	 1		16.61
W. H. Smith	12		164		59	 2		16.40
C. H. Pillman	14		211		105*	 1		16.23
T. E. Bourdillon	14		184		68	 1		14.15
C. Marzetti	14		178		45	 1		13.69
H. A. Robinson	10		75		17	 2		9.37
		* 5	Signifies 1	not o	ut.			

TONBRIDGE SCHOOL BOWLING.

	Overs	Maide	ns	Runs	W	ickets	,	Average
H. M. Bannister	246.2	 66	20.	852	1	47		12.38
C. Marzetti	334	 92		822	160.3	63		13.05
T. E. Bourdillon	180.3	 41		486		29		16.75
H. G. Pegg	71	 15		215		8		26.87

UPPINGHAM SCHOOL BATTING.

J. G. Fawcus E. S. Lennard A. P. Graves C. S. Trubshaw J. F. Bishop H. Dowson H. L. Newton C. G. Tomlin G. W. Palmer F. H. Puckle E. E. Raven	16 7 15 16 13 12 15 15 16		Runs 414 287 123 247 243 184 148 151 147 150 40	 	fost in a innings 81 48 46 76 89 73 35 48* 42 21	Times not out 2 3 1 0 0 2 0 0 2 0	Average 34.50 22.07 20.50 16.47 16.2 14.15 12.33 11.65 9.80 9.37
E. E. Raven	10	··* s	40 ignifies r	ot or	13	 4	6.66

UPPINGHAM SCHOOL BOWLING.

H. Dowson	Overs 52		Maide	ns	Runs		Wickets	Average
C. S. Trubshaw	223	200	15		$\frac{167}{920}$::	6 31	 27.83 29.67
G. W. Palmer E. E. Raven	$\frac{85}{103.3}$		9	1.00	341 378	1	10	 34.10
F. H. Puckle	134.2	•••	11		555		10 11	 37.80 50.45

WELLINGBOROUGH GRAMMAR SCHOOL BATTING.

WELLINGBOROUGH GRAMMAR SCHOOL BOWLING.

		1	011.	TITI	U.			
H. H. Ryland	Overs	7.02	Maide	ns	Runs	Wickets		Average
H. E. Bowmer	117.2		20		353	 33	ex.	10.6
A. J. Wright	67.5		12		197	 15		13.13
J. L. Wood	$\frac{64}{52}$		7		237	 17		13.94
K. G. Symons	103.3	.0.7%	10		176	 9		19.55
G. W. Palfreyman	53.3	3075	10		389	 18		21.61
	-3.0		10		171	 6		28.50

Public School Averages.

WELLINGTON COLLEGE BATTING.

				IV.	lost in an	1	Times	3	
	Inning	rs.	Runs		innings		not or	ıt	Average
D. H. Field		San in	261		66*		3		32.62
C. G. Arkwright	16		453	21.	87		2		32.36
E. L. Kidd	15		451		81		1		32.21
E. L. Paske	14		369		131		2		30.75
M. L. Lovelace			142		42		4		28.40
A. N. Hutt	16		367		105		2		26.21
S. F. M. Fergusson	14		318	201	54		0		22.71
G. F. C. Shakespear	12		223		74		2		22.30
G. B. Hendeson			281	10.	87		1		20.07
H. G. Burridge	10		69		23*		3		2.86
H. L. Bowen	3		2	061	2		1		1.00
		* S	ignifies	not o	ut.				

WELLINGTON COLLEGE BOWLING.

	Overs	Maiden	S	Runs	V	lickets	Average
E. L. Kidd	193	 22		693		42	 16.50
D. H. Field		 57		750		42	 17.85
R. L. Bowen	52.2	 5		215		11	 19.54
H. G. Burridge	104	 26		320		15	 21.33
E. L. Paske		 12		259		11	 23.54
G. F. C. Shakespear	46.3	 5		169		6	 28.16

WESTMINSTER SCHOOL BATTING.

				44	Most in a	n	Times	3	
	Inning	ZS.	Runs		innings		not or	ıt	Average
F. G. Turner	15		624		130*		1		44.57
H. F. R. Rawson	15		351		52*		2		27.00
J. C. Gow	15		341		93		0		22.73
C. G. Reed	14		294		61		0		21.00
R. R. Rawson	6		61		20*		3		20.33
A. E. F. Wood	14		203	200	29		3		18.45
H. N. Wood	14		212		48		2		17.66
E. C. K. Clarke	11		124		40*		1		12.40
M. Hammond	4		45		24		0		11.25
J. F. Goodall	7		64		28*		1		10.66
J. W. Ferguson	8		38		18		3		7.60
C. M. L. Circuitt	10		56		16		1		6.22
J. S. Heaton-Ellis	8		33		12		1		4.71
		* S	ignifies 1	not o	ut.				

WESTMINSTER SCHOOL BOWLING.

	Overs		Maide	ns	Runs	Wickets	Average
A. E. F. Wood	197.5		31	4.11	561	 32	 17.53
R. R. Rawson	38		6		165	 9	 18.33
E. C K. Clarke	108.4		16		394	 20	 19.70
F. G. Turner			12		452	 22	 20.54
H. N. Wood	110		10		474	 23	 20.60
J. W. Ferguson	64		7		275	 13	 21.15
C. G. Reed	46	1.30	3	.01	152	 6	 25.33
C. M. L. Circuitt	52		6		208	 5	 41.60

WINCHESTER COLLEGE BATTING.

WINCHESTER COLLEGE BOWLING.

S. H. Habershon	Overs 50		Maide	ns	Runs	Wickets	A	verage
A. J. Evans	112		20		157	 12		13.08
W. A. Trasenter	7		10	••	298	 21		14.79
W. W. Young	72	blode	11		$\frac{138}{229}$	 72		19.71
A. L. Fleming	74	dolo	7		224	 11		20.81
I. B. Balfour	96		3		450	 10		22.40
				William .	±90	 11		26.47

ARDINGLY COLLEGE BATTING.

P. S. J. Randall. H. A. P. Bruhl R. J. H. Morgan R. C. Foster C. Cassy J. E. Ward G. Burgoyne H. S. Hodges A. H. Kneller F. B. L. Foster	. 14 . 13 . 16 . 14 . 9 . 13 . 13	 Runs 425 303 186 163 142 79 103 78 21		ost in an innings 87 118* 47 48* 28* 59 50* 26* 12*	 Times not out 2 3 1 4 2 0 1 2 3 3	 Average 32.69 27.54 15.50 13.58 11.83 8.77 8.58 7.09
F. B. L. Foster	10	 21 42 Signifies n	ot or	13	 $\frac{3}{1}$:	7.00 4.66

ARDINGLY COLLEGE BOWLING

	_					
C. Cassy R. J. H. Morgan	Overs 134.3	 Maiden 19	ıs 	Runs 542	 Wickets 40	Average 13.55
L. D. H. Molgan	130.3	 14		494	 36	19 70